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MR. KAISER:  Good, everyone.  We'll get underway.  This is the second day of the presentations related to the incentive rate mechanism matter.


There are a couple of preliminary matters that the sponsors would like to highlight.  First off, there were submissions late in the day yesterday from the EDA respecting cost matters, and this comment will be of interest to all, I would think.


It is the sponsors' view that, essentially, the cost treatment for this additional round of information-gathering should be governed essentially by the rule that has been in place for the rest of this process, so that this additional range of information-gathering will be covered by, basically, a like cost treatment from what has gone before and what was initially contemplated.


That applies to all of those who have been determined to be eligible for cost treatment to date.  Those who have not been seen to be eligible for cost treatment to date would not be afforded cost eligibility as a result of this additional information‑gathering exercise.


Now, if someone feels aggrieved with that approach, they're free to send a letter in to the Board or to the sponsors.  We will certainly consider it and go from there, but our position at this point is simply that those who are eligible for the first section will be eligible for this additional information-gathering exercise in the same manner, and in the same kind of formula, as has governed it to date.


I guess the other thing is I think Staff would like ‑‑ has some matters to clarify arising from yesterday.  

Mr. Fogwill.


PRELIMINARY MATTERS:

MR. FOGWILL:  Thank you.  It's Allan Fogwill, Board Staff.


There was a question raised about what the bill impacts were over the last number of years, and the subsequent expansion of that was to try and separate out the impact of MARR and also of reg assets.  


We have some information that's on an overall basis, and we're still trying to separate out MARR and reg assets specifically.  But I wanted to pass on this information as soon as possible, and hopefully we'll be able to provide more, but at least this.


So I'll just go over what the average bill impacts in the province have been associated with the distribution rate change on the total bill.


In 2001, the average impact was a 2 percent increase.  In 2002 the average bill impact was a 5.9 percent increase.  In 2003, there was no increase due to the rate freeze.  In 2004, the average bill impact was 0.6 percent.  2005, the average bill impact was 4.9 percent.  And in 2006, the average bill impact was 1.9 percent.


The other two points I wanted just to bring to your attention is that in 2001, the average bill impact was driven by unbundling in the first tranche of MARR, so, to a certain extent, you can get a little bit of an understanding about where MARR is coming from in that element.


And in 2004, the majority of the bill impact was associated with 25 percent of the regulatory assets being included in the distribution rates.  And, if you recall, I mentioned that that bill impact was 0.6 percent.


Thank you.


MR. SOMMERVILLE:  We'll proceed with the presentation.  

Mr. Todd, are you prepared to present at this point?


MR. TODD:  Yes.  Dr. Poray will.


MR. SOMMERVILLE:  Thank you.  Mr. Andy Poray.


PRESENTATION BY MR. PORAY:

DR. PORAY:  Good morning.  My name is Andy Poray, and I'm with Hydro One Networks.  What I'd like to do is to go quickly through some slides which Hydro One prepared and submitted, which will really set the context for what Mr. Todd will be talking about.  


So if we can go to the -- basically what we're trying to do today is -- there are three aspects.  We want to demonstrate broadly our support for the second-generation incentive regulatory model and to move expeditiously in that respect so that we can implement it.


We want to provide an example of the adjustment factor which Hydro One is proposing that will be included in the generation model to deal with capital additions.


And, also, we would like to share our vision with those present today of our view on incentive regulation that really underlies our support for the second-generation model and to expeditiously move to the third-generation model.


So, first, I would like to make some general comments.


As we have noted through our commentary throughout the process in this proceeding, we are supportive of moving forward with incentive regulation to setting rates that include adjustment, automatic adjustments.  This approach makes sense to us, because incentives tend to drive behaviours which benefit the utility, the utility's customers, and the regulator.


Hydro One agrees with Board Staff that the second-generation model is a transitional mechanism for adjusting rates and, as such, a simple model is the best policy.  

In this respect, the second-generation model is not a fully fledged incentive regulatory model as we know has been applied in other jurisdictions, such as the U.K. and Australia.


Rather, it is a simple model for mechanically adjusting rates that uses common adjustment factors.  And, in our view, it's a stepping stone towards incentive regulation.


Therefore, Hydro One's expectations are that the focus of developing incentive regulatory mechanisms should be directed towards the third-generation incentive regulatory model, since that would be the enduring incentive model for the distributors in Ontario.


In this respect, there is much work that needs to be done, and we should not delay in starting that effort.


Notwithstanding our support for the second-generation model, Hydro One has raised a number of concerns, and these are listed in this slide.


The first three concerns I will address shortly.  The fourth concern, which pertains to the lack of implementation detail, Hydro One has addressed that through its response to the Board's questions in that area.


But before I proceed to discussing the concerns, let me briefly share with you what Hydro One's vision is with respect to incentive regulation.  This vision underlies our support for proceeding expeditiously with the implementation of the second-generation IRM and with starting work on the third-generation IRM.


Next slide, please.


The three parameters that are listed in this slide are typically the key elements that are used to implement incentive regulation.  As such, they require particular attention to ensure that appropriate signals are provided to utilities to drive the desired behaviour and, thus, achieve the incentives that we're seeking.  This should be the focus of the third-generation IRM and not the second-generation model development.


These elements are part and parcel of the incentive regulation that is taking place in the U.K. and Australia, and Hydro One believes that these jurisdictions have demonstrated that there are benefits that accrue to the utilities, to the utilities' customers, and to the regulators.


For example, when structured properly, incentive regulation does tend to drive behaviours that benefit the utility and its customers.  Incentive regulation is based on a thorough review of costs.  The incentives are set to manage the costs and to drive efficiencies.


Incentive regulation allows sufficient time between reviews of costs to allow the incentives to work.  Incentive regulation utilizes appropriate rewards and penalties that drive behaviour to achieve the targets, and the targets are set to reflect customer values.

      Incentive regulation provides opportunities to reduce the regulatory burden, and thus allow the regulator to focus on economic regulation.

      However, effective incentive regulation does require a lot of data and a lot of analysis, and therefore sufficient time should be allowed to collect that data to perform the analysis, to develop the model, so that we get the right incentives that we're looking for.

      Finally, successful incentive regulation is the result of a collaborative process between all participants, working together to achieve a common good.

      Let me now turn to some of the issues which Hydro One has raised.

      Capital growth and capital investment is certainly a major concern to Hydro One.  The lack of recognition of this matter in the proposed second-generation model does not reflect the reality that, during the plan period, utilities will have to invest in their distribution infrastructure.

     The absence of this recognition would delay the much-needed investment, with potential impacts on reliability and quality of service.

     We have a proposal to overcome this shortcoming, and we'll discuss this a little later.

      The main reason why we have a concern with capital investment is really twofold:  There's the aging infrastructure, and I think this is a problem which most utilities, not only in Ontario but throughout the world, are coming upon; and the second one is the advent of distributed generation.

      In terms of the aging infrastructure, our assets are getting older.  We're now into 40-, 45-, 50-year old assets, so we're looking assets which were put in place in ‘50s and the ‘60s, at a time when there was very significant expansion of the distribution system to electrify the province.  And then we went through a stable process where we were just essentially connecting customers.

      We're past that stable process now.  We're into a process which sees a need to replace some of those aging assets.  On average, our asset base is getting longer with time, and we are not replacing assets fast enough to reduce the average age.

      The capital investment which Hydro One foresees is based on an asset condition assessment study that we have filed with the Board as part of our 2006 distribution rate submission and, also, that we filed in support of our 2007 and 2008 transmission rate submission.  And it's on the basis of that asset condition assessment that we prioritize which equipment has to be replaced before it reaches its end of life or before it fails.

      So the capital investment is not a short-time fix.  We envisage that this is here to stay for quite a number of years, and we have to deal with this matter.  If we don't address it now, it will come back to bite us over the next few years.

      The second aspect of capital investment relates to distributed generation.  We know that there is distributed generation coming as a result of the Government directive to implement new supply in the province.  And a significant portion of that generator is expected to be connected at the distribution level.

      And what we'll be looking at here is not only the connection of the distributed generation to the distribution system, but also the reinforcement of the distribution system, and most likely the reinforcement costs will not be paid for by the generators.  So this is an issue that is waiting for us.

      Turning now to the third-generation IRM.  Inasmuch as

Hydro One agrees that the second-generation IRM is a separate and different process from the third-generation IRM, there is a need to move on with the development of this latter model, since the time period for the second-generation IRM is very short.  The transitional period affords excellent opportunity to develop the design, the data requirements, and to gather the data, perform the analysis, develop the models, and the targets and incentives, so that we arrive at a meaningful third-generation IRM in which the model parameters and targets are set to drive performance.

      Hydro One is fully supportive of working with the OEB and the other stakeholders to develop the third-generation model, and the sooner we start, the better.

      Next slide, please.

      As noted on this slide, performance is a key element of incentive regulation.  Without that, there are no effective incentives for the regulated utility to perform and to meet the targets that reflect customer values.  We know that performance has been a key element in other jurisdictions in which incentive regulation has been implemented.  The U.K. and Australia experienced points to improved quality of service and improved reliability of delivery because sufficient attention has been paid to setting the appropriate drivers through performance targets.

      We're not there yet in Ontario.

      Certainly the importance of SQI and performance measurement has been recognized, but the appropriate mechanisms have not been put in place to achieve the desired results.  Monitoring performance without financial incentives or penalties will not produce the desired results.

      Also, we need to know what customers want and what they are prepared to pay for.

      Hence, our suggestion that we start work on this matter so that it is included in a timely manner in the third-generation IRM.

      I would now like to turn to the proposal that we've put forward for the capital adjustment mechanism.

      Our thinking on this matter is supported by the research work done by Elenchus Research Associates.  They have examined what is done in other jurisdictions in this respect and have developed a solution that could be readily adopted with the Board Staff's second-generation model.  

I would like to ask Mr. Todd now to take you through an illustrative example of the proposed solution, and then I will follow with a few closing remarks.

PRESENTATION BY MR. TODD:

     MR. TODD:  Switching over to the other slides, and here we go.

      As promised in the paper in advance, this is just an illustrative example that walks through to hopefully give a clear understanding of exactly how the proposed mechanism would look.

      The capital investment factor, CI factor, is recommended in the report, creating the formula as shown on the slide, exactly as in the Staff proposal, but with an additional term, plus CI, where CI is the percentage increase in rates required to recover the costs, in looking at capital costs plus depreciation, associated with significant new capital investment in the rate year.

       Next slide, please.

      Just to understand conceptually where it's coming from, it's worth noting the difference between the proposed

CI factor and the Z factor, or Z factor, in Mark Lowry's language.  That is in the existing formula.

      The CI factor is similar in the way that it works, except that the Z factor is specifically there for uncontrolled, unforeseen events, such as - ice storms has been mentioned - that have a significant financial impact; it's a threshold for those.

      The CI factor is different because it's for controlled and foreseen investments.  So it is specifically a kind of expenditure that is outside of the scope of the Z factor, such as a major rebuild, that would have a significant financial impact, exactly like the Z factor.

      It's because the capital investments are controllable that I am suggesting that the Z factor is needed, because it can be deferred.  

One of the problems that has been raised over, I think, 15 years that I've been involved in old Ontario Hydro proceedings, other electric utilities, is concern about when there are pressures on constrained budgets, that work gets deferred, leading to higher costs and maintenance, and you end up with inefficient capital investment in renewing the assets.  

Maurice Strong's day, remember the phrase "price drives cost", instead of "cost drives price."  That was an absolute cap on spending, and there was concerns raised in those proceedings that, with arbitrary constraints, work would get deferred -- it could be deferred without a short-run impact but there would be a long‑run impact on overall costs to the utility.


Similarly, we've seen other jurisdictions, such as what was then West Kootenay Power, now Fortis B.C., concerned that the company wanted to keep rates down so they'd be lower than B.C. Hydro rates, and that led to some very serious problems with their system, which led to customers saying, Please spend more money.


So I think that the fact that it's controllable is the problem we're trying to deal with by proposing a CI factor.


Next slide, please.  

Of course, we've already heard yesterday some concerns that by allowing a capital pass‑through, there could be some ‑‑ could be abuses of that right.
Therefore, certainly there has to be some pre‑conditions to protect against the improper use of the CI factor.  

A possible pre‑condition would be that an LDC wishing to utilize the CI factor ‑‑ and, of course, it's not automatic.  Probably few would use it, because few would require it, but they could be required to file an asset condition assessment study acceptable to the OEB, so they've actually done the study to demonstrate the need for the significant capital investment to maintain reliable service.  


In other words, they can't get it unless they show that they in fact need a significant level of investment.


Setting that as a pre‑condition would also inject a new incentive into the regime, something that Adonis Yatchew was talking about yesterday, in that it would create an incentive for LDCs with significant capital needs to actually go out and do asset condition assessment studies, which would be a good thing to have done in this industry, and to create an incentive to do those would be a side benefit of this proposal.


Second, the CI factor would be applicable only if there are significant capital expenditures that are required.  

For example, the CI factor could be that it would not apply unless it was at a minimum of 0.5 percent based on a detailed capital plan and established budget, if available, or a trend analysis and the asset condition assessment study.


It should be noted, of course - and we'll get back to that - that come rebasing, the capital expenditures that are undertaken would be subject to a review for prudence, so that there would be a constraint on companies simply going out and spending a lot of capital and feeling it's automatically passed through.  


If it was not justified, there would be a risk that, come rebasing, which is not that far off, one to three years, that they would find that they're not allowed in rate base.


So that would provide a protection against abuse of the approach, the regulatory risk.


The CI factor is essential to the ability of LDCs to maintain SQIs and the performance at expected levels and be compensated for the investments required.


Turning to the next slide, which is the calculation methodology, three simple steps are required in the calculation.  

First - and I would emphasize - that in the spirit of the Staff proposal, which is, Let's do something simple, this is designed not to be precise, but to be simple and fairly accurate.  


My daughter last night doing physics was explaining to me the difference between accuracy and precision, and I think it applies here.  We're not being precise.  We're probably not being accurate, either, but we're more on the accurate side than on the precise side.


So the first step is determine the percent growth in rate base due to the increase in fixed assets.


The second step is to deduct the price-cap escalator and the percent load growth, because those are implicit recognition of capital that's already built into the formula, and multiply the result by the ratio of capital‑related costs to the total revenue requirement.  Voilà, you have your result.


Okay.  Let's take a closer look at each step.  

Next slide, please.


The first one, the percentage growth in rate base, it can be approximated as the new capital investment minus depreciation, which gives you, putting those together, the increase in the net fixed assets, divided by the prior year's rate base.


This is getting the number away from dollars into a percentage, which is the way the formula's designed, into a percentage increase on the rate base.


That would be using prior-year numbers.  

Again, it may not be precise, but they are numbers that are on the record that are simple, easy to do the calculation, no new information required.


Step two are the offsets, the recognition of that portion of capital expenditures which is implicitly recognized through the formula.  

So that's offset first by the price-cap escalation factor, because the price-cap escalation implicitly is saying, All components of the revenue requirement are going up proportionally by that percentage, and, therefore, rate base is being recognized as going up proportionally, is one way of looking at it.  I mean, that's not precise.  That's essentially what it's doing, in principle.


So you've got implicit increase in all costs.  This is recognizing that.


Also, load growth, where capital expenditures are related to load growth, there's -- assuming it's the addition of customers or increase in total throughput and your charging on a per kilowatt hour basis, there is an increase in revenue that corresponds to that growth which is driving a portion of capital expenditures.


Therefore, there's an offset for that portion of capital expenditures for which there is compensating revenues.  We're trying to avoid double‑counting here.  So you end up with two offsets, GDPPI minus X, which is the inflation factor, and the change in load growth.  


Then the third piece is the capital cost ratio.  This is looking at the increase in overall rates that is needed to compensate for the incremental capital investment, and that corresponds the ratio of the capital costs to the total revenue requirement.  


So, in effect, if the capital costs have increased by 2 percent and capital costs are half of the total revenue requirement, then you only need a 1 percent increase in the overall rates to compensate for the capital portion.  


Jay, you've got a quizzical look, so let me take that again, okay?  And, in fact, we'll do it with a numerical example.


MR. SHEPHERD:  Can you explain how you compare assets, the balance sheet items and income statement items, and make a ratio of them, because I don't get that.


MR. TODD:  Okay.  Think of it as revenue requirement items.  Rates is revenue.  Revenue is revenue requirement.  Revenue requirement is total costs; right?  So we're looking at the proportional rate of increases.


So we're saying that if half of your revenue requirement is capital‑rated costs.  Okay?  Capital-rated costs have gone up by 2 percent.  You need a 1 percent increase in overall rates to compensate for that increase in the capital costs.  Okay?


So if those three steps are clear conceptually, let's try some numbers.  And, of course, these have been grossly simplified so that we can all calculate them in our heads as we go through this.


Assume the prior year rate base is 100, capital investment is 7, 7 percent of your rate base, depreciation is 2.  Capital-rated costs, the depreciation of 2-plus, we're saying, 8 percent on the rate base comes out to 10 -- to give us a round number, is 10 in total.


The revenue requirement is 20, load growth is 2 percent, and your price-cap escalator nets to 1 percent.


Then we have this messy little formula, but let's look at basically what it's doing.  It's saying, Okay, first we take the 7 minus 2, which is the capital expenditure minus depreciation of net assets over the 100.  So we're talking about a 5 percent increase in rate base due to those capital expenditures.  So that's the percentage increase in the capital costs, approximation.

      Then you move down to the bottom line, you see the 5 minus the 1 plus 2, so we're out of that 5 percent increase in rate-base-related costs.  That's offset by the 1 percent price escalator, which recognizes 1 percent of capital growth.  It's offset by the 2 percent of load growth.  That leaves you with a net of 2 percent.

      You multiply by the capital-rated costs over the total revenue requirement, and you come up with 1 percent.

      That entire calculation is using prior-year costs, a load growth number.  It's the prior-year revenue requirement.  It's a simple calculation.  It is not precise, but it's as precise as our overall price-cap formula, and therefore, again, in my daughter's physics terms, for the number of significant digits we have, we're staying within or we're maintaining the level of significant digits.

      And we will get, in a few minutes, to any questions you may have on that.

     So the conclusion.  With the CI factor, an LDC with significant capital requirements will not be penalized for undertaking capital investments that are needed to maintain or attain SQIs.

      Prudent spending will be ensured by reviewing the capital expenditures as part of the LDC's future rate-basing filings and the other protections that I've already mentioned.  

Further, the LDCs with significant capital plans will be required to undertake asset condition assessment prior to embarking on their major capital programs, which is a bonus of this approach.

     That concludes my comments.


FURTHER PRESENTATION BY DR. PORAY:

     DR. PORAY:  Could we go back to slide number 7, please.

      So as part of my closing remarks, I just wanted to say that we support the move to incentive regulation.  I'll stress that we certainly do that for the distribution sector.  We can learn a lot from what has been done in other jurisdictions, and we can avoid the mistakes and traps that the other jurisdictions have experienced.

      In that respect, we should focus on the positive outcomes from that knowledge and see if these could be incorporated in Ontario to help in the design of the third-generation IRM.

      We should move quickly to start the work on the third-generation IRM, because there's a lot to do, the lead time is short, and it's decreasing rapidly.

     And we should involve all stakeholders to ensure that there is success for an enduring incentive regulatory model in Ontario.

      And in my final slide, I just want to stress one more time that we advocate keeping the second-generation IRM model as simple as possible, as the time for its implementation is very short.

      Thank you, and this concludes Hydro One's presentation.

     MR. SOMMERVILLE:  Thank you very much.  I believe we'll start with Board Staff questions.  

Mr. Fogwill.

QUESTIONED BY MR. FOGWILL:

     MR. FOGWILL:  Thank you.  

Mr. Todd, I commend you for providing very clear and detailed information that can help the Board and the Board staff in dealing with these issues.

      More often than not, we get comments and concerns that don't provide sufficient detail for us to move forward, and I really appreciate this.  

So I only have a couple of questions related to the details.

     MR. TODD:  So that's one of those that's "really good but ...”

     MR. FOGWILL:  Yes.  And it's really focussed on the asset condition report.  And I'm just wanting to get your view on what you would expect in terms of a process to review those asset condition reports.

     MR. TODD:  I think it would be an administrative filing.  It's a suggestion.  It's not, obviously, a mandatory part of the design.  It's not part of the arithmetic.  But it is a pre-condition which essentially says, if you have a major capital program that requires you to look at a CI factor, don't just come forward with a set of numbers, but actually come forward with some justification.

      And the practical reality, given the time frame, is that you would be filed with the Board’s administrative --

Board Staff would review it and say it's acceptable, and probably the threshold would be that they've done a competent job on looking at the asset condition, you know, given the time frame.

      Again, in the spirit of this relatively flexible transitional mechanism, my understanding is that many LDCs haven't done serious enough work in this area yet, and by the time you get to third-generation IRM -- there's some discussion yesterday, for example, from Mark Lowry and others, about the British model.  And if there's any potential that we're going to be looking at three-year or longer capital programs, it has to start with such a study.  It's an essential starting point.

     MR. FOGWILL:  Oh, I agree.

     MR. TODD:  And so this is a trigger to sort of make the announcement.  

What would it look like in practical terms?  Frankly, if I was Board Staff, to use Jay Shepherd's terms – unfortunately, I'm not.

     MR. FOGWILL:  Sorry, not what?  Board Staff or Jay Shepherd?  

[Laughter]

     MR. TODD:  I won't rank those -- then, you know, I would basically say, File something that is a serious attempt, and, you know, we'll accept that.  “A serious attempt” means sort of meeting basic standards.  

Hydro One's done the work.  That's an indication of how they can be done, but you may not expect everybody to meet that standard within a one-year time frame.

     MR. FOGWILL:  And how would you address concern of, you know, being able to transfer some expenditures or costs from operating to capital?  How would you look at that if you're only looking at the capital expenditures to determine the CI?

     MR. TODD:  That's -- to me, that is a problem with long-term IRM.  That kind of capital operating substitution is difficult to do in a short time frame.  So, frankly, I don't see that as a big problem in the transitional mechanism.  It definitely has to be addressed in the third generation.  And, again, this transitional mechanism is not a real incentive mechanism.

     MR. FOGWILL:  Right.

     MR. TODD:  Not only does it miss out on some of the benefits; it misses out on some of the problems.  And for the reasons why it misses out on some of the benefits of a long-term, properly designed incentive regime, I think for those exact same reasons it does not create a real incentive for the substitution, because the payoff is too short-term.

     MR. FOGWILL:  Okay.  Just going to the capital program that would underlie this CI factor.  In this proposal, would you be looking for the Board to grant approval of all those capital projects and therefore they would automatically flow into rate base?

     MR. TODD:  No.  They would -- that's why there are pre-conditions.

     MR. FOGWILL:  Okay.

     MR. TODD:  Okay?  First of all, by assessing the capital assets; right?  But more importantly, it's subject to a review in the rate base.  In effect, they are just like an interim ex parte order that they’re accepted, they’re built into rates.  It allows the parties to recover costs on an interim basis.  If they have been imprudently incurred, then the Board would not have approved those capital expenditures.  They would be reviewed as part of the rebasing process.  You don't want to have a capital program reviewed in advance of that.  That would be a regulatory burden, which you're trying to avoid, and the company would be at risk, and, therefore, I would suggest that companies will be cautious about coming forward with capital programs that require a CI factor, unless they are the very basic kind of expenditures that we were talking about yesterday, where the regulatory risk is minimal, because you're just talking transformers and wires.


MR. FOGWILL:  Okay.  Well, let's say you went to the rebasing and some of the capital projects weren't approved.  Would it be fair, then, to go back and recalculate the previous CI factor, determine what the amount was of over-collecting for imprudent capital projects, and have that remitted back to customers?


MR. TODD:  If I was designing a numerically perfect system, I would say that was done.  If I was ten years younger, I would probably say yes.


In my more pragmatic grey‑haired days, I would say the penalty of not having those dollars put into rate base to the company, and the benefit to the customer, is sufficiently close that we call it “rounding error.”  

This whole interim regime is all about rounding error.  It's all about approximation.


MR. FOGWILL:  The last question I've got is one of symmetry.  You say that only those LDCs that would need the extra capital spending would come forward for this ‑‑ apply for this CI factor.  What about those LDCs that were underspending on capital and, therefore, collecting more in rates than they should be?  Shouldn't they be obliged to file that asset condition report and have a negative CI factor attached to that?


MR. TODD:  Well, first of all, with the asset condition assessment report, it would be wonderful if you just said, Everybody must do one.  Probably that's not practical right up front.  If you can get a few of them doing it, that's the best you can expect.


So let's put that aside.  In terms of the symmetry in principle, I agree with you entirely.  If it's a practical concern, I'd say, yes, you would want that.  

But there are two reasons why you might not want that.  Number one, that means everybody has to file.


MR. FOGWILL:  Yes.


MR. TODD:  And because you don't know unless they file.  Clearly, you're trying to avoid that situation.


From a practical perspective, if you think of the variance in capital spending, there's much more potential on the upside than there is on the downside.  

Now, why is that?  Because there's a certain basic level of capital spending that every LDC is going to incur on a year-to-year basis.  Certain things have to be done.  


When you look at the overall mechanism, you can't spend zero.  It just isn't practical.  So something above zero is the bottom end.  And if we're using a 0.5 percent factor as a dead zone, if you want, I would suggest that the chances of being below that, of actually having a negative, is quite low, and if they are beyond that, there's only so far beyond that they could possibly be.  


So my suggestion would be that in order ‑‑ given the risk that there are some LDCs that are underspending and going beyond that dead band or collar, however you want to look at it, I would say that risk is so low that it's not worth the regulatory effort of saying everybody has to file so we can see who has a CI factor that's larger than minus 0.5.


MR. FOGWILL:  Okay, thanks.  I just have one final question, and I think this is for Hydro One.  

Have you calculated this CI factor for yourselves?


DR. PORAY:  No, we haven't.


MR. FOGWILL:  Do you have an asset condition report that you are ready to file?


DR. PORAY:  We filed an asset condition assessment report with our distribution rates for 2006.


MR. FOGWILL:  And would that be the one you had referred to in this CI factor ‑‑


DR. PORAY:  We would probably start from that as an initial start, yes.


MR. FOGWILL:  Okay, thank you.


MS. HARE:  Marika Hare for Board Staff.


Many of the ideas that you've suggested in your paper are of great interest to Staff, particularly as we look at third-generation incentive regulation.  And as we pointed out in our paper, the third-generation IR may look very different than the second, which I think you've correctly characterized as being transitional.


So my question to Hydro One, though, is:  If you were to live with Staff's proposal for 2007 only and be one of the first group coming in in 2008, could you live with that?


MS. FRANK:  My reaction is that if we had confidence that third generation would deal with this issue, the answer would be “yes.”  If we would be entering in 2008 and then have three -- I don't know how many more years to deal with, where the issue will continue, it doesn't disappear.  The capital expenditures are escalating.  It's not that we get them right in 2008 and they're steady from there on.  They're not.  


So our problem is that we want to have confidence that third generation will deal with this issue.  And if we had that confidence, then I'd see no problem with living with the more simplified formula for one year.


MS. HARE:  Thank you.


MS. BRICKENDEN:  I only have one question for Hydro One or Mr. Todd, whoever would like to take a stab at it, of a technical nature.  I was wondering how, if at all, you think this might affect the economic evaluation considerations in the Distribution System Code.  

And, secondly, if not all distributors have a CI factor built into their adjustment, will those distributors, those service territories, therefore have reduced capital contribution requirements for new developments in their service areas?


MR. TODD:  Looks like my light is still on.  

I don't think it has any impact.  It is a refinement of the proposed price-cap regime that recognizes capital.  In theory, the price-cap regime is supposed to recognize all costs regardless.  So from that, what the rates are supposed to cover doesn't change.  So from a conceptual basis, there's no impact on the feasibility test.


It's just setting rates in a way that is more reflective of the assumptions that underlie rates, underlie the feasibility test, underlie the whole design of the system.  And it's allowing for recovery of some capital costs that otherwise might not be recovered, but there's no ‑‑ the companies, the LDCs, have no alternative of saying, We're not getting these capital costs under the price-cap regime, so we're going to have to recover those additional capital costs from our customers; right?  They can't do that.  


So this is not a substitute for collecting from customers, because this would relate to the capital expenditures that are to the account of the utility.


DR. LOWRY:  Okay.  I've got a few questions.  I'd like to start with just a point of clarification from the first presentation by Andy.


Something wasn't quite clear to me.  I guess it was on page 3.  Where you talk about productivity, it says: 

"An industry-specific X factor is preferable since that recognizes individual utility accomplishments ..." 


Did you mean by that company specific; in other words, something that's adjusted for performance?  I just wasn't clear how an industry‑specific X factor recognizes individual utility accomplishments.


DR. PORAY:  Well, what we were thinking about there is to perhaps develop a productivity factor that recognizes the status of the accomplishments that the utilities have achieved over a period of time in terms of driving efficiencies.


DR. LOWRY:  Mm‑hm.


DR. PORAY:  Sorry?


DR. LOWRY:  No, you go ahead, please.


DR. PORAY:  That would better reflect what that X factor should be.  So it wouldn't necessarily be individual for each utility.  It may ‑‑


DR. LOWRY:  Oh, I see.  Okay.


DR. PORAY:  ‑‑ capture a number of utilities, but it would examine what the progress has been in terms of achieving the efficiencies.

     DR. LOWRY:  Okay.  Got you.  Okay.

     Then on page 6, and this could be answered by John as well, but it was in Andy's slide, that he says that:

"ERA's research indicates that capital investment allowance is indeed an integral part of the incentive models in other jurisdictions."

I wasn't quite sure what you meant by that, because one interpretation is that you're saying that this is typical and customary multi-year rate plans and another is that it's done in a few other jurisdictions.

      Could you clarify, what you did mean?  

      MR. TODD:  You have to wait long enough ...

      First of all, the research of other jurisdictions was not a big help with this.  The proposal in this process did not come from anybody else's plan.

      The situation here is somewhat unique.  

Mark, you would probably know better than I if there are some other examples of interim plans that are serving the objectives of this regime.  I'm not aware of any.

      Across Canada, the PBR regimes such as those in B.C., as you're well aware, Mark, have explicit and different consideration of capital.  So in the sense that the capital problem is grappled with, primarily what I'm saying is that is recognized -- you know, the Connecticut regime I make reference to in the paper is another example where CI is recognized as being somewhat different.

      And there are some of those regimes the way they deal with the unique nature of the capital investment is to have explicit capital reconsideration or separate productivity factors, or they're left outside.  

There's many ways of dealing with it, but I would suggest that it's generally recognized that it is a somewhat different challenge than operating expenditures.  That's really what I was trying to say here.

     DR. LOWRY:  Okay.  So I gather from that answer that what you mean is that there are some examples of plans that do give special treatment to the cap-ex issue?

     MR. TODD:  Yes.  And again, others, I think, recognize the issue but say we don't need special treatment.

     DR. LOWRY:  Okay.

     DR. PORAY:  Can I just jump in here, Mark, and add to that that, in fact, in the U.K. and the Australian incentive regulatory models, this is automatically recognized by the nature of the model, that you submit information for the incentive regulatory period on the capital expenditure, as well as the OM&A.

     DR. LOWRY:  Yes.  That's right.  And my own opinion is that you've raised some interesting issues that are germane for a third-generation treatment, and is it even possible that we could even have a group of companies that do something with a more British style and then another group that do it in a more North American style?  It's possible. 

Because in power distribution, it's not that common to suddenly need a lot of big investments, but evidently in this case, there are a few companies that are in that situation.  So what's to be done about it?

     On the need for the capital investment factor, you speak of something that I wasn't fully aware of, and I'll have to learn more about this:  The advent of distributed generation, how the Government is encouraging it; that this could involve some connections, which I guess are more likely to be paid for by the generators, but then also some reinforcements of the overall system.

      A couple of questions about that.

      Are some utilities more affected by that or see themselves as likely to be more affected by that than others?

     DR. PORAY:  It's possible.  I'm just thinking from

Hydro One's perspective, in terms of having a distribution system that span a significant proportion of the province, we may see generation being connected, you know, in several parts.  So we just recognized that as an issue.  

Other utilities, they would have to speak to that, but there is an expectation that this will happen.

     MR. TODD:  May I just add to that?

     DR. LOWRY:  Yes, please.

     MR. TODD:  One of the difficult things we have in

Ontario is that we're dealing with almost a hundred LDCs. 

In most cases where PBR regimes are being set up, you're dealing with one or at least a small number, as you mentioned yesterday, Mark, of utilities, and, implicitly or explicitly, you can look at the special circumstances of the utility to which the PBR regime is being applied.  

Here we're not.  The CI factor is kind of a steam valve, you know, to let off the excess pressure where it occurs.  If nobody required it, that may be okay; but with 90 utilities, you got a lot of diversity.  So even down to the distributed generation aspect, some people are in areas -- some utilities are in areas where there's good wind, some aren't.

     Some are in areas where there's good landfill gas potential, a lot of others aren't.  So they've all got unique circumstances.  So in response to your question, it's inevitable that some LDCs will be facing more connection of distributed generation than others.  And some are very small.  So proportionately, you know, proportional to their total load, some may actually see a high percentage of displacement of load compared to others, but we don't know yet.  Statistically, though, we'd expect a big distribution.

     DR. LOWRY:  One thing about the DG, in my experience, is that you hear a lot about it, but there hasn't been much of it yet.  And, in particular, a lot of the optimism at one time was about gas-fired technologies.  And now the price of gas has gone up a lot.  It's not as -– the prospects are not quite so optimistic.

      So how definite is it that there will be a material amount of DG?  Isn't it pretty, at this point, a fairly speculative prospector?  Is it more definite in 

Ontario?   

     MR. TODD:  Firstly, of course, the price of natural gas has come back down again, and quite substantially.  But at the same time, probably that up-and-down does create a sense of price risk, which itself is a factor against investing in gas-fired generation, but there is a policy pushing in that generation.

      Is it a high probability in the term of second-generation IRM?  Probably not.  A lot will happen for the first tranche that hasn't already been identified.  It takes time for these things to move ahead.  The probability is greater in second and third tranche.

      For a third generation, clearly this is an important consideration that the design must accommodate, whether or not DG happens.  As the EPA has been telling us so many times, We have to keep our options open.  We have to design for flexibility.  And that is a possibility, and we must have it be designed for that.


MR. LOWRY:  I have a few more questions, but I'd like to think about them for a few minutes, so could I cede the mike to --

     DR. PORAY:  Could I just respond to that or add to that?  And that is that there are a number of things that are coming down the pipeline.  The standard offer program will be initiated in November of this year, so there's an expectation that as a result of that, there will be projects coming on board.  And then there is the supply mix program, as well.  

Hydro One has experienced a significant increase in the number of projects that we've been asked to look at.  I'm being told it's somewhere between 50 and 70.  So I mean, that is a lot.  Now, not all of it might materialize.  Nevertheless, there is an expectation; this province is short of supply, and that's one of the key aspects that the Government wants to address through these various programs.

     MR. FOGWILL:  Allan Fogwill, Board Staff.  

Andy, the projects you're talking about, are they all, especially with the OPA supply mix, are they distribution connection projects, or are these transmission connection projects?

     DR. PORAY:  There is a mixture, but there is a lot which is on the distribution system, as well.

     MR. FOGWILL:  Thank you.

     MR. KAISER:  Ms. Chaplin.


QUESTIONED BY MS. CHAPLIN:

     MS. CHAPLIN:  Cynthia Chaplin.  

Mr. Todd, I have a question for you on your example of the CI.  I'm looking at page 9.  I guess having it up would be helpful, but perhaps not necessary.


My question relates to the capital-related cost factor, and I'm hoping you can help me understand, because sort of on a first impression, my sense is that that's sort of an accelerated recovery, because normally what you would recover would be the depreciation and the return on the related capital, not the full amount of the capital costs.


So I'm trying to understand how that works.


MR. TODD:  It's probably the way the term “capital costs” gets used in two ways: capital cost, the cost of construction.  Capital cost is the cost of capital covering debt and equity.  This is ended to ‑‑ this is the capital cost in the sense of debt plus equity cost.


MS. CHAPLIN:  I'm sorry, when you say "capital investment", in other words, that's not necessarily the capital expenditure.  That's a ‑‑


MR. TODD:  That's not capital expenditure.  In C, capital-related costs, that's depreciation plus the costs associated ‑‑ the capital costs, the debt cost, and the return on equity in the ROE, the annual ‑‑ well, the annual carrying costs, if you ‑‑ including the ROE.


MS. CHAPLIN:  Okay.  So the capital investment figure of $7.00 actually implies project costs of the inverse of that, whatever.  If your weighted average cost of capital is X percent, the $7.00, is that ‑‑


MR. TODD:  Okay, sorry.  The "I", that's your new capital investment.  So we're saying we're spending on capital investment $7.00.


MS. CHAPLIN:  Okay.  So that's the cost of the wires?


MR. TODD:  It's the cost of the new wires that you're putting in place that you're saying is partially funded automatically, and $2.00 of that is not ‑‑ sorry ‑‑ yeah, $2.00 of that is not being funded by the offsets.


Okay, sorry.  So the "I" is the amount we're going out and spending on wire this year.


MS. CHAPLIN:  Right.


MR. TODD:  On wires and transformers.


MS. CHAPLIN:  And then if I could just stop you there.  And in the normal course, if you spent that, that $7.00 would go into your rate base.  You would earn the depreciation on that, which you've shown as $2.00.  And you would earn ‑‑ I don't know.  You know, you would earn the return on capital associated with the rate base, however that is calculated, you know, average of monthly averages, whatever.


So that's what, in the normal course, you would have.  So, okay, that's what I would have normally expected.  So if you want to continue to explain how you're doing it?


MR. TODD:  The C, the line C, if you look down where it's used, the place that C is used is in the ratio of capital costs to rate base.


MS. CHAPLIN:  Right.


MR. TODD:  So what C is calculating is the ‑‑ sorry, not rate base.  R is revenue requirement.  So it's the proportion of the revenue requirement.  The way C is used is to determine the proportion of the total revenue requirement that is attributable to the capital‑related costs, depreciation, plus carrying costs, as opposed to operating costs, operating and maintenance costs.


MS. CHAPLIN:  So the carrying costs on $7.00 of capital investments is $8.00?


MR. TODD:  No, on the $100, the 100, because, remember, this is the proportion of the total rate base.


MS. CHAPLIN:  So you're compensating people for rate base that's already built into the ‑‑ I thought the idea was to be compensating for incremental capital.


MR. TODD:  The C, the C does not relate to compensation.  It's used to determine the proportion of revenue requirement that is the capital‑related costs.


So it's used to determine the one half.  It says that ‑‑ that's back to the first comment of that if we have -- if we have a 2 percent increase in your capital but capital is only half of your revenue requirement, you only need a 1 percent increase in rates to compensate you for the increase in the capital side.


So that is used in step 3.  That's just to determine the capital cost ratio.


MS. CHAPLIN:  Mm‑hm.


MR. TODD:  It's not part of steps 1 or 2, which is determining the capital costs that you're trying to compensate for.


MS. CHAPLIN:  Okay, thank you.  That helps.


MR. TODD:  I know it is complicated and it takes a bit of time.


MS. CHAPLIN:  Thank you.  That helps.  I'll leave it to others to pursue.


MR. SOMMERVILLE:  Mr. Shepherd, do you want to proceed?


MR. SHEPHERD:  I think Mr. Harper will proceed.


QUESTIONED BY MR. HARPER:

MR. HARPER:  I think Mr. Shepherd has asked me to go first so he can clear up any mess along the way.


‑‑‑ Discussion of microphones


MR. TODD:  I think mine was on.  It's complicated, because I spent time to make it simple in terms of the calculations.  So getting it to simplicity -- complication of the microphone system, but ...


MR. HARPER:  Well, maybe just stepping back a bit, I think if I go to the very end of your ‑‑ the initial paper you prepared, basically you are proposing the CI factor to remove what you were calling an incentive to deferred capital investment; is that correct?


MR. TODD:  Yes.


MR. HARPER:  And I think one of the things you talked about was this business about, you know, if you're facing constrained budgets, then maybe what you do is you don't spend capital in areas where you aren't -- through the form that you are going to get compensated for it immediately.


MR. TODD:  I've seen companies do that, yes.


MR. HARPER:  So I guess what you're saying, and I guess what you're doing through some of these adjustments, is you're not necessarily saying the formula doesn't provide funds.  What you're saying is the formula doesn't provide the incentive to actually spend the funds?


MR. TODD:  No, actually, I'm not saying that, because I'm saying that the formula recognizes some level of capital investment.  And, you know, I mean, bluntly, with or without the CI factor, as soon as you have a price cap, there is an incentive not to spend money; right?  Whether it's operating, whether it's capital, there's incentive not to spend, and that's there no matter what you do.


And that is why this is labelled, in part, an incentive regime.  The problem is that it is such a broad‑brushed incentive that you discourage bad spending and you discourage good spending.


What this really addresses is that there may be some spending that a company has to incur in order to responsibly fulfill its job and if that spending happens to be a very significant capital investment, it will be penalized for that, because it will not be compensated for that spending.  It will spend that money and the depreciation and capital-related costs, as in depreciation ‑‑ sorry, as in interest on debt and ROE, will come out of the shareholder's pocket.


And it's really actually motivated more from a balance of fairness and equity type of position, rather than incentive.  This is ‑‑ this does not turn this transitional regime into an incentive regime.


MR. HARPER:  Maybe that goes to my next question, because I think there was some discussion around ‑‑ some discussion from Board Staff about looking at third generation, maybe an interest in this third generation, and I just want to get your take on this, because if I look at page 9 of your paper, it's my understanding that you don't see this as being the optimal type of solution for a long‑term incentive IRM mechanism.


And you can correct me if I am wrong, but I take it you're looking at more things like focus on SQIs, rewards and penalties, than trying to build a mechanism like that into a long‑term incentive regime.  Is that a fair characterization of what you've written?


MR. TODD:  Yes, it is.  Board Staff have started with making the best of a difficult situation, and I'm trying to make the best a little bit better of a difficult situation.  We're all working with the second best world here, and it's not -- this whole design, as Board Staff paper from the beginning says, this is not linked to third generation IRM.  


I take that literally on faith and say I'm going to hope that this is not the foundation for third generation.  And this adjustment mechanism falls into the same category as this whole transitional mechanism.


MR. HARPER:  No, I wanted to get that clear, because I know there was some whole discussion around about look at this type of thing for third generation, and I wanted to get your take on whether this was an appropriate type of mechanism or whether there might be better types of mechanism to build into a third generation IRM.


MR. TODD:  The way I heard the comments was the problem is one we must look at and must recognize in third generation, and we must design a third-generation regime that addresses the capital issue.
      This mechanism, if we come up with as unique a system for third generation as second generation, we might say we need something like this.

      I hope we don't have a design that requires a fix such as this.

     MR. HARPER:  Okay.  Fine.  Thank you.

     Ms. Frank, I noticed you reaching for the microphone. 

I wanted to give you a chance to say something if you wanted to.

     MS. FRANK:  My concern was –- I was worried that -- but I think that John dealt with in the end, that indeed we do believe that the companies need to have the proper incentive for the third generation that encourages prudent investment and this incentive mechanism, a U.K. model, something needs to do it.  

So our notion is third generation needs to give the right incentives to invest properly to provide the kind of performance that the system should over the long term provide.  We believe that means more capital is going to have to be spent.

      So whatever model deals with that, that will be fine, but to ignore that element, I think will be problematic.

     MR. HARPER:  Okay.

     MS. FRANK:  I think the final answer got it --

     MR. HARPER:  Okay.  This is for Hydro One to start off with.  You indicated in your presentation that capital cost allowances are an integral part of incentive models in other jurisdictions.  And I know in your discussion, Dr. Poray, you made reference to the British and the Australian models.

      I think it's fair to say those are pretty fundamentally different than the North American-type model that we've been trying to look at and deal with here.

     Is that a fair comment?

     DR. PORAY:  That's correct.

     MR. HARPER:  So that if we were to look at capital --this sort of capital investment-type adjustment within the context of the North American-type model or framework that we're currently working with and currently trying to tinker with to come up with the best solution for second-generation IR, incentive regulation, are there any other examples that Hydro One would sort of bring to the table beside the ones that Mr. Todd has referenced in his paper?     
DR. PORAY:  No, we're not aware of any other.  We think that this is a workable and a relatively simple example that can be implemented quickly and address the issue.

     MR. HARPER:  Okay, no, I guess I was trying to get a sense for -- and maybe it's following up a little bit on Dr. Lowry's issue on sort of the precedents and how this is dealt with elsewhere.  And I think, Mr. Todd, you indicated in your August 14th paper that you had done a review of U.S. and Canadian jurisdictions to identify where mechanisms were used to account for capital.  And I guess I was curious, how many jurisdictions did you end up surveying?

     MR. TODD:  I think we just did a database search for on keywords, and the ones in the paper are the ones we came up with.

      So this is exhaustive in terms of ones that we identified.  With Mark Lowry involved, it was no point in trying to undertake a comprehensive review.  It was a quick review of what was -- came up, as I say, with keywords for our reference.  Because of my involvement across the country, I know the Canadian jurisdictions well.  We wanted to come up with some examples in the U.S., as well.

      But Mark would have a far better sense than I would of exhaustively what's being done across the U.S. in particular.

     MR. HARPER:  I don't know whether it's fair to me to turn to Dr. Lowry now and maybe just within the context of -- I know on page 55 of your paper you listed a number of regimes and you included in there information on the escalation factor they had and the productivity factor they had.

      I guess, do you have any comment in terms of how many of those particular regimes included a formulaic type adjustment for capital cost expenditure?

     DR. LOWRY:  Sure.  You're going to have to separate between the North American and British style, and the British style is the style that's used chiefly in England and in Australia.  And a few American jurisdictions now have experimented with it, like Connecticut, which John mentions in his paper.

      In those cases, it is like a five-year -- five forward test years.  And so there is -- the X-factor will definitely be tailored to the capital cost plans of the company.

      Now, a problem with that system is what's to incent the utility not to exaggerate their capital spending needs?  And, in fact, they even don't necessarily want them to go out and spend the money they've been budgeted, because maybe, once they're on the plan, they'll then think better of the need for some of those investments, or postpone them.  And so there are incentive mechanisms for how to deal with that situation.

      But at any rate, let's get back for a moment to the issue of how can we be sure they're not exaggerating their needs.  And it's an important thing to note about that that they typically, nowadays, having gone through a few rounds of this and seen a rather disturbing pattern of exaggerated investment needs, have come to hiring engineers to make their own independent assessments of the investment needs.  In fact, they even have -- they're always coming up with these little schemes in England -- they're kind of clever that way.  

They even have this little thing now where you get a bonus if the company -- the company gets a bonus if their own projected cap-ex needs are equal to or less than the consultant's report.  A clever idea.

     Not to say that anyone in this room is exaggerating their needs, but I'm just saying it's just unfortunately a problem with that system, and one that they are trying to work out.

      In the United States now, where the majority of the plans are based on input price and productivity research, I would say, no, it's not common to have special provisions for that.  

A good example might be the plans where the Canadian telephone companies typically apply to five, six companies, and no, there's no special adjustment for their individual needs, but you can be sure that those vary and you can also be sure that telephone companies make plenty of investments.  It's not like it's a dying industry.  I mean, they're subject to competition, but the overall market is growing.

     MR. HARPER:  Maybe just to be clear, because I know you've made this distinction too between the Australian and

British-type regime, which you've noted, too, is significantly different than the North American regime, which we're trying to work with here.  

And if I was to parse that list which you have on page 25, and say, which of those schemes are sort of formulated under the North American type approach which we're looking at here, how many of those would have a formulaic result adjustment for capital? 

     DR. LOWRY:  Well, none.  Virtually none.  You know,

John often mentions these plans in British Columbia, and it's something that should be looked at, and they actually have kind of two categories of -- they break down the incentives into cost categories, and so they'll have a special plan for the O&M expenses, and then they'll have other arrangements for smaller plan additions, and yet a third treatment for the large plan additions.

      Now, mind you, that some of those plans apply to companies that sometimes make major planned additions of a type that a power distributor doesn't that they get into the transmission business, or they have a major new power transmission line that they're building.  And so that's where they need their separate CRTCs -- I'm sorry, the separate certificates of public convenience and necessity.

      So that's why there's that separate third category, for really major and unusual investments.

      And so it can be said, in fairness, that when you're dealing with a business where you might have a major plant addition, that these indexing approaches are often set to the side, so that there are special arrangements made for those types of investments.

     But most power distributors don't have investments like that.

     MR. HARPER:  Okay.  Thank you.

     DR. PORAY:  Can I just add to that?

     MR. HARPER:  Sure.

     DR. PORAY:  Perhaps the thing that I think we have to bear in mind is that the incentive regulatory models that have been developed in the North American continent were perhaps developed at a time where the distribution industry was in a stable mode, and where you are looking at adding new customers or adding new generation.

      I think it's fair to say that we're in a different mode now.  We're in a mode where we're looking at significant investment just to maintain the reliability of the infrastructure, and perhaps we need to look at some variations of those models to try and address the issues that are at hand.

     DR. LOWRY:  Well, I've done some research on that issue, on behalf of several clients, and I don't see the evidence of cyclicity, or cyclicality - I'm not sure what the word would be - for distribution that you do see with the transmission and the generation.  

I mean, if you do look at the United States, yes, their infrastructure has aged measurably, and they're going to be getting to the point here where they're going to need some major new investments, replacement investments in new power plants, and so on. 


But it's not really true of the U.S. power distribution industry.  And I think it is true just for this reason that every time a new subdivision goes in, you got to go out there and connect it up no matter what.  And so the investments tend typically to be pretty spread out over time.


DR. PORAY:  Just perhaps if I can provide an example that there was in the information that we filed with our distribution rates last year.  We indicated that between 2002 and 2005 our distribution asset base increased by, I think it was, something like $1 billion, which is about 30 percent.  


And, you know, we are facing these problems in terms of the investment that we need with an aging asset base.  And it's a problem that exists throughout the industry.


DR. LOWRY:  Well, I wonder to some degree if Ontario isn't reaping the harvest of the rate‑making treatments that have been going on over the last 10, 15 years.  

You know, if you really weren't earning a compensatory rate of return, you might resort to some desperate measures to get by, and that may have made a difference.


MR. TODD:  I think, Mark, there's a point there.  I think, frankly, I'm not as familiar as you are with the U.S. jurisdictions, but I'm familiar with all the Canadian jurisdictions.


Ontario is a little bit unique.  With our, what was until quite recently, 300, I think -- over 300 distributors, virtually all owned by municipalities, they behaved the same way as back in earlier days when I dealt with municipal telephone companies, in a sense, run by the city on a don't-spend-any-money mode.


DR. LOWRY:  Mm‑hm.


MR. TODD:  And exactly the same as our water and sewers have been run.  And, I mean, the absence of spending on water and sewers across municipalities at this point in time is disastrous in terms of what we're facing in the near future.


And the same thing is done there.  There's a whole different incentive structure.  And prior to the recent changes in the Ontario marketplace, they weren't regulated.  They reported, I think, to Bill Harper and some others at Ontario Hydro, and there was a semblance of regulation, but nothing that ensured that they did the spending they needed to do.


And municipalities approached their telephone systems, their hydro systems, their water systems, all in the same way.  We made investment.  We tried to get the developers to pay for it.  We're trying to keep rates as low as possible and defer all spending.


Then we go through a period of turmoil, which you've seen in terms of the regulatory process.  And, you know, they've been bashed and battered about to some extent.  And, again, the approach has not been business as usual, and it may well be that certainly in some locations we are reaping the consequences of that.  


And this is not a widespread comment.  You know, LDCs are all trying to catch up, doing a good job.  Many are doing a better job than others, but with still almost 100 left, there are those in different circumstances.


And at some point, the sooner the better, we have to put an end to this, put everything off, put everything off, mentality, which many LDCs have already reached, and they're playing catch‑up.  Others haven't reached that point yet.


DR. LOWRY:  Go ahead.


MR. HARPER:  That was quite an interesting exchange, so thank you very much.  

I guess, well, getting back to the survey and the examples, I guess.  If I look at the five examples that you listed here, it seems to me that one of them talks about incentives.  A couple of them talk about sort of guarantees that people make a certain amount of investment in the system.  


And, really, the two that really involve a formulaic-type adjustment are the ones I guess we've all talked about before, out of the B.C. jurisdiction, Terasen Gas and Fortis B.C., which used to be Aquila, which used to be West Kootenay Power.  


And to be quite honest with you, to be quite frank and maybe be upfront about this, both Mr. Todd and I are quite familiar with this jurisdiction.  We both represent different parties in that jurisdiction.  

Mr. Todd's firm has worked for Fortis B.C., if I'm not mistaken, in their last PBR scheme which was just approved, and I worked for a group similar to what I work for right now, on the other side of the table, looking at that PBR scheme.  


So we're both quite familiar with it, I believe, and I think it's important to understand some of the elements of that scheme that are not on the table right now, but do differentiate it somewhat from some of the proposals that we see here right now.


So I'd like to go through and maybe just clarify the fact - and Mr. Todd and agree with me or disagree with me - that what we're dealing with here is a revenue-cap scheme, as opposed to a price-cap scheme.


MR. TODD:  We're talking Fortis B.C.?


MR. HARPER:  For Fortis B.C., yes, and that effectively there, we're talking about a ‑‑ and also, I guess, Fortis B.C. has a sharing mechanism, if I'm not mistaken, in terms of an earnings sharing mechanism in their scheme.


MR. TODD:  It's a revenue requirement adjustment mechanism.  It does include sharing.  The new regime excludes capital from the adjustment mechanism.  It's a totally separate pass-through process.  

The prior regime, as Mark referred to, had certain categories of capital which were escalated.  They had target costs.  But that aspect has been eliminated in the most recent decision.


MR. HARPER:  And the other thing was is that capital pass‑through, that's done on the basis of an annual review, where those capital expenditures are looked at annually, actually reviewed - you can correct me if you believe I'm wrong - reviewed by both Commission staff, stakeholders, and there is basically either a negotiated settlement process that those capital expenditures are reasonable or it would subsequently go to the Commission each year that those capital expenditures are reasonable.  


And it's on that basis that the pass‑through is then ‑‑ similarly with the load forecast.  The load forecast is reviewed, because it's obviously with a revenue-cap scheme an integral piece of it, and on the basis of review of those, the adjustment is made on an annual basis, if I'm not mistaken.


MR. TODD:  Yes, under what I'll call the B.C. design, which is both Terasen and Fortis B.C., they have what's called an annual review process.  Traditionally, that has been a one‑day session where people got together.  

The morning was typically presentations, updates, information, with really half a day of actually discussing material that went into the calculation of the new rates, because rates were not reset.  


As you said, it's not a price cap, so rates aren't set by the formula.  The revenue requirement comes out of a formula, including the sharing mechanism.  So there has to be a calculation of rates that the parties either agree to through a negotiation or otherwise.


There is also room for some written process around that, but it does mean that you have a very streamlined process, compared to a full hearing.  But you do have a regulatory process on an annual basis.


And with the current regime for Fortis B.C., there's a whole capital program, a separate mechanism, which is similar to what the CRTC had in the old days where there was ten years, I think, for Bell Canada, for example, with no rate increases, but every year there was a capital program review.  


So there was a hearing, in a sense, related to the capital program, where it could be reviewed in as much detail as the regulator felt appropriate.


MR. HARPER:  And maybe just finally to confirm that the productivity factors that are actually incorporated in that plan are 2 percent for 2007, 2 percent for 2008, 3 percent for 2009, if the plan's extended for a third year?


MR. TODD:  Yes.  The company proposed 1 percent, 2 percent, 3 percent; and the settlement agreement was 2 percent, 2 percent, 3 percent.


MR. HARPER:  Okay, thank you.


MR. TODD:  That was a negotiated settlement.


MR. HARPER:  Yes.


MR. TODD:  And that was specific to that company, yes.


MR. HARPER:  Okay.  The other thing I ‑‑


MR. TODD:  Sorry.  Oh, yeah.  As Susan pointed out, of course, it only applies to OM&A, because OM&A is all that's in the regime.  Capital is totally outside.


MR. HARPER:  That's right.  

I just wanted to go back, and, if I recall the conversation correctly, I think there was a conversation you were having with ‑‑ I think Mr. Fogwill was asking about this business about if you spend more capital under your proposal than sort of ‑‑ then if it was prudent to do so, there would be a reset at the time of rebasing.  

And Mr. Fogwill asked if it was reasonable to go back and sort of claw back from customers who had already paid those higher rates, and you said no.


Another issue which, to be quite honest with you, ratepayers have had some concern with in the Fortis-type -- the B.C. examples is not where they spend capital imprudently but where they put forward a capital expenditure plan and then actually don't spend the money, so that capital expenditures are actually less than what was put forward in the forecast.  They're effectively paying rates on capital that was never spent.

      Now, you know, you can say at the time that the rebasing comes, that will happen.  But, effectively, customers have spent money on nothing, if I can put it that way, for the interim period.  And if you don't have annual reviews, that's never caught up with until you come to the time of the rebasing.

      Would your answer be the same for that type of issue, that, you know – sorry - it's water under the bridge, this is too complicated, we're trying to be simple, let's just suffer through and look forward?

     MR. TODD:  It is an issue that has to be addressed in a third-generation incentive regime.  If it were a major concern and the Board were to put a capital mechanism into place for the second generation, you could do that.  You could have a review.  That would be Board discretion.

      Where I'm coming from is trying to go with the premise put forward by Board Staff, which is simplicity.  And, frankly, it was exactly that concern that underpins the asset condition assessment study, which says, you know, you demonstrate a need.

     Part of that creates a credibility issue.  If a company comes in, does a study, says, We really need this money, and they don't spend it and then come into the rebasing hearing and haven't spent it, but now on a going-forward basis we have this capital budget; what's going to happen?  What's going to happen to the credibility?  What's going to happen to the saleability?

     So there's an element of regulatory risk-related discipline in the process.  Do you have to worry about it? 

That's a judgment call.  

Perhaps if I was sitting in your seat, as back in the old days when you were sitting in my seat and I was sitting in your seat, I would probably be raising exactly the same issue.  

The Board will have to make its decision on the balance between streamlining simplicity and that risk, given the other checks and balances in the process.

     MR. HARPER:  I think the way you envisioned the process when Mr. Fogwill asked you about it was that the company would file an asset condition assessment with Board Staff, that they would review it, and that would be the basis on which -- then, you know, that would justify the capital expenditure program.

      And I guess what strikes me is that an asset - and maybe Dr. Poray's the better one to respond to this - an asset condition assessment study is really telling me what's the current status of my assets, where are the issues, where are the problems, but it seems to me translating that that there are probably a number of ways that information could be translated into a number of different capital expenditure programs, you know, in terms of what I do when and how much I have to spend in each particular year.  And that involves a fair amount of judgment in terms of taking that information about how things exist right now and how I should solve the problem.  

And there's probably more than one way in terms of capital expenditure trajectories, if I can put it that way, as to how I would solve the problem.  

So I guess I struggled with the issue as to is it really that simple for Staff to look at an asset condition assessment and say, Oh, yeah, that naturally leads to this set of capital expenditures?

     MR. TODD:  This is not a capital program review. 

That's not part of this process.  This is a much more mechanistic, simple process.

      It's a discipline provision.  It says that if you have a significant capital budget that you are bringing forward, we're not going to do a line-by-line review of your capital budget but we expect you to have done your homework.

      And an essential part of doing your homework is to have an asset condition assessment.  That's just a fundamental piece of saying, We need a lot of capital.

      And if you haven't already got one off the shelf, you better at least do that as your homework before you come in and give us a budget which is going to get built into your rates and you're going to have to justify at the rebasing proceeding.

      So that linkage isn't there, and you wouldn't want that, because if you drew that linkage, you would have to have a hearing about the capital program.  And we're trying to avoid that.

     That's all part of the staff proposal design that we're trying to tweak.

     MR. HARPER:  Okay.  I guess what I struggle with - and to be quite honest with you, I struggle with a lot of the time, and I struggle through a lot of my career, and maybe I don't have as much grey hair as you, Mr. Todd - is the fact that - and this is just a comment - you know, I've often had to struggle when people say I have to do this in the interest of administrative efficiency even though it isn't the right thing to do.  And I think there's a tradeoff that has to be made there, because to some extent you say, Well, the outputs are only as good as the inputs, and if you're sacrificing the inputs in terms of the process, well, then it seems to me there’s a problem with the quality of output that you’re getting at the end.  That's just that --

     MR. TODD:  Well, I agree with you.  And on that premise, we shouldn't be doing a second-generation IRM; we should be implementing a third-generation IRM.  But we're not there.  So going back to the earliest days of my economic studies, that's the world of second best.  And we're probably down to about the world of fifth best, frankly.

     MR. HARPER:  I also want to deal with -- because I think the issue of asset condition assessment deals with – and Dr. Poray can correct me if I am wrong - investments, and basically sort of what I have to do to renew the existing asset base.  It’s almost like -- I think the expression Hydro One uses is “sustaining capital,” if I can put it that way.  


And I think the focus of Mr. Todd's thing was on sort of asset condition assessment.  But we've heard a number of representations, say, from The Coalition of Large

Distributors that this capital mightn't only be for sustaining capital; it might also be for growth capital.

      And I guess one thing, Mr. Todd, Dr. Poray:  Would you see growth capital being captured in this?  And if that's the case, what sort of comparable information, evidence, would you see being provided to Board Staff that would substantiate, you know, in maybe not direct linkage, formal review, but substantiate the need for the growth capital?  Because this asset condition assessment really only substantiates sustaining capital.

     MR. TODD:  The proposal is not suggesting that the company is providing a justification for the proposed budget.  I thought of that, obviously.  You know, I looked at that, saying, Okay, probably they should justify it.

      Well, as soon as you go down that path, you have to have a proceeding.  And you would then end up approving the capital budget, and what is approved would be final.  All right, and would flow into rates and you wouldn't have to review it again later.

      The concept here is different.  It's saying the discipline with respect to prudence is that you're not getting your capital budget approved.  You're going to have to come in and justify it in your rebasing proceeding, whichever tranche you're in.

      So that's the prudence check.

      And if you are not really careful about making sure that your CI is based on prudence expenditures, you run the risk of having them disallowed when they get reviewed in the future.

      The asset condition assessment is almost a throw-away; it's something that, Here's an opportunity to make sure that that good thing to be done around capital programs is being done.  It's not a justification.

      So I'm starting from a different premise than you are, Mr. Harper.  It's not a process which is justifying the costs.  It's saying, Give us a budget, show us you've done your homework, run the risk of a disallowance come rebasing, and run the risk of harm to your credibility and perhaps some response by the OEB if you come in with a big budget, get a rate increase because of it, and then don't spend the money.    

     MR. HARPER:  Maybe just trying to close this off, to use the words you just used, I think one of the words you used was, “you've done your homework.”  And I guess the question is:  So there's nothing they are providing to suggest they've done any homework at all around capital growth?

     MR. TODD:  There's nothing in the proposal to say that, and frankly, I don't see how you do that without getting into a proceeding.  And ultimately it's saying -- you know, I'm not disagreeing with the premise of it would be a good thing to do.  It would be desirable.  Except in the context of second-generation IRM, it's inconsistent with the fundamental principle that we're bridging the gap to get to third generation in a way that is not onerous.  We're going to have potentially 90 capital program reviews?  I don't think so.


MR. HARPER:  Actually, I had a number of questions around just sort of more the mechanics of it, and I'm not too sure we have time and whether we want -- whether just maybe I can pause at a broad level and let other people ask some -- whether there's some broader questions, and come back.  


I don't want to feel like I'm monopolizing the table here in any sense.  So that if it's a matter of other people wanting to come back as -- it gets more -- I'm trying to get into maybe some of the similar questions that Ms. Chaplin was asking about, sort of some of the mechanics of it.


MR. SOMMERVILLE:  We can accommodate.  You want to pass the baton, as it were, momentarily.  

We'll take our morning break at this point and resume at 11 o'clock.  

Mr. Shepherd, are you prepared to go forward at 11:00?


MR. SHEPHERD:  Yes, that's fine.  Thank you, Mr. Sommerville.


MR. SOMMERVILLE:  Thank you.  We'll stand adjourned until 11 o'clock.  Thank you.


‑‑‑ Recess taken at 10:42 a.m. 
     --- On resuming at 11:00 a.m.

     MR. SOMMERVILLE:  We'll recommence.  

I think Mr. Todd is going to take us through his formula at the flip chart, just to address some of the questions that have arisen to date with respect to the CI proposal.  

I know that there are some limitations for those listening over the Internet, not watching, but we may make some provision to replicate that for those who are in that position.  

Mr. Todd.        


MR. TODD:  Is that okay?

     THE REPORTER:  Yes.


FURTHER PRESENTATION BY MR. TODD:

     MR. TODD:  There's obviously some difficulty - I've been too close to it - so what I want to do is, if you flip to the illustrative example, what I'd like you to start with -- and for those over the Internet, you can draw a box, a square box, and think of that as the revenue requirement, total revenue requirement.

      And you split that box into two halves.  The revenue requirement has two parts.  One we're calling the capital-related.  So the capital-related costs are the depreciation, the interest on debt, and the ROE.

      In the slides, that's referred to as depreciation and capital costs.  Okay.

      So those are the dollars that are included in the revenue requirement that are driven off of the capital.  If capital goes up by 5 percent, those costs go up by 5 percent, roughly speaking.  Again, everything's not exact, because everything's not exactly proportional, in terms of depreciation rates and so on, but, crudely speaking, that's it.

      The other side of -- or other half of the revenue requirement or other part of the revenue requirement is 

OM&A, taxes, we'll just say "et cetera," everything that's not driven off the capital.

     MR. FOGWILL:  Sorry, taxes are driven by the capital; right?

     MR. TODD:  Well, capital taxes are driven by the capital --


MR. FOGWILL:  No, taxes are on ROE, so they’re completely driven by the capital, whatever the ROE is.

     MR. TODD:  ROE, you've got an ROE; those taxes are in

the ROE.

     MR. HARPER:  Yes, so the only thing in the “other” is -–


MR. TODD:  I was thinking taxes, municipal taxes and stuff like that, yes.  So everything driven off capital is on one side.  What's not driven off capital is driven off the other side.  

     MR. SHEPHERD:  Sorry, and again, John, you're not talking about things that are driven off capital; they are things that are driven off rate base?

     MR. TODD:  Yes, rate base.

     MR. SHEPHERD:  Thank you.

     MR. TODD:  And we're not adjusting for anything other than capital this changing rate base.  So working capital is just assumed to be constant.  Again, simplifying; right?

     Now, if you look at these numbers, the revenue requirement is the 20.

      The C, the capital rated costs here, is the 10.  Okay?

     So this is calculated on the basis of the total rate base, which is why, in here, we have a rate base of a hundred.  So your starting point is your rate base is a hundred.  The 100 drives 10 in capital-related costs, depreciation plus interest plus ROE, on the total rate base.  The 10 does not relate to the new capital.  And why hopefully will come clear as I go through this example.

      In the revenue requirement, the other in the example, accounts for 10; 10 plus 10 is 20, okay?  This is the C.

     The purpose of the C is so we can say that the capital-related costs are one-half of the revenue requirement.  And so that is the calculation which is the step 3 calculation.  It says we're taking capital-related costs divided by the revenue requirement - excuse my writing - equals .5.  So half.  So that's the way the C term gets used.  That's the way it's derived.  It's based on the total rate base from the year before.

      So that's the third step of the calculation.

      Now, in principle, what we're doing is saying, Okay. 

How much is rate base going up?  In the example, we say, Rate base -- sorry, capital investment goes up by 7, but there's depreciation of 2.  So the net increase in rate base due to the capital assets is an increase of 5.

      7 is spent.  2 is reducing rate base.  The net increase is 5.

      So that's step 1.  Okay?  

Then we say, of that net increase of rate base of 5, how much does the formula give us?  The formula is increasing everything -- in my example we've got GDP-PI of 2 -- sorry, load growth of 2, and the escalator is 1; therefore the escalator's, in effect, giving you compensation of 1 percent.  The load factor, growth and revenues, is compensating you for 2.  So you're reviewing that 1 and that 2, leaving 2 as the amount of your increase in rate base that is not implicitly being compensated for within the formula, or by growth.

      And therefore you're left with 2, which is the out-of-pocket portion of the increase in capital-related costs that is going to flow through the bottom line of the shareholder.

      That 2, we say, Okay, if you increased rates by 2 percent, because capital-related costs overall, uncompensated, have gone up by 2 percent; you would be increasing everything by 2 percent.  You would be double-compensating the company, because you're increasing both halves of the revenue requirement.  So we say we have to multiply it by just half, which would be where I started, to say what the percentage increase in rates must be in order to offset the net increase in capital-remitted related costs.

     Now, I'm still too close to it, so -- yes.  Question?


QUESTIONED BY MR. BATEMAN:

     MR. BATEMAN:  Andy Bateman, ECMI.  

The $7 capital investment you referred to, how much of that is incremental?

     MR. TODD:  The 7 is the total capital expenditure in that year.

     MR. BATEMAN:  Okay.  Earlier you referred to a basic capital expenditure which a utility would do in any case.

     MR. TODD:  That's included in the 7.  That's why we have these deductions -- well, they're different deductions, but --

     MR. BATEMAN:  So any capital investment in that year will flow into this formula, then?

     MR. TODD:  Well, it flows into the formula, but remember, you're taking out depreciation, because, in effect, part of that -- whenever you do capital spending, part gets funded by the depreciation index, right, in terms of, if we go back to thinking of this in terms of a revenue requirement model -- you know, we're not talking incentive regulation here.  We're just talking about kind of stepping forward as a simplified cost‑of‑service model.  


In a revenue requirement model, if you spend 7 and you've got depreciation of 2, your rate base only goes up by 5; right?


MR. BATEMAN:  Okay.


MR. TODD:  So the 5 is the increase in rate base.  

Under a normal cost‑of‑service model, that 5 would drive an increase in depreciation, an increase in the interest and ROE.  All of those would be increased capital‑related costs that appear as part of the revenue requirement.


Capital itself doesn't.  Rate base doesn't.  It's these costs that relate to them.


So they go up by 5 percent.  

Now, what I've said is the formula, because there's an inflator built it into, that, in effect, assumes everything's going up by the 1 percent.  So you're already getting 1 percent through the formula for a 1 percent increase in your capital‑related costs.  That's implicit in the formula.


Assuming you've got load growth - and not everybody does ‑ that's a company‑specific factor.  If you have load growth, probably some of those capital expenditures are related to the load growth; that being, of course, the system, adding customers, costs, things like that, but you're getting revenue offsetting it.  

So the load growth factor is a way of taking out the portion of your capital expenditures that you're getting money for.  They're being offset by increases in revenue.  


You don't want to double‑count that, so you're taking that off and saying the portion of your capital spending for which you're not getting any kind of offset in this example ends up being –- 

Bill?

FURTHER QUESTIONED BY MR. HARPER:


MR. HARPER:  Actually, I said earlier I had some questions about mechanics, and, actually, now that you're up there with pen in hand, this actually may be the easiest time to do it.  


And I think I understand how the mechanics work if we're looking at the first year of the incentive scheme, because the rate base you're looking at is the rate base for the rebased ‑‑ you know, I guess it would be 2006 would be the rate base you'd be looking at. 


We've got that number through people's filings.  We're looking forward one year.


Some of these IRM schemes can last as long as three years, if I look forward in time.  Like, you know, some -- only a third will be rebased, you know, and that will be the second year in.


So what I'm trying to understand, just for simplicity's sake, let's assume there's no capital adjustment required in the first year of the plan but I've got capital adjustment required in the second year of the plan.


Would you actually be using ‑‑ maybe the question is:  Would you still be using the rate base for the base year but subtracting off two years' worth of depreciation?  Would you using -- would you be subtracting off two years' worth of load growth because we're now in the second year?  


I just want to understand how it works going forward once I get beyond that first year.


MR. TODD:  The underlying assumption of the Staff model is kind of business as usual, that the price-cap formula reflects what's happened to costs.  So the implicit assumption is that all the costs are going up by whatever the price-cap formula produces.  And, therefore, it is allowing for an increase in capital costs.  It's allowing for an increase in O&M, assuming it's a net positive number, such as in the example.  


The bottom line is that, therefore, this calculation would be exactly the same if there is nothing in the first ‑‑ no CI in the first year and there's a CI in the second year.  But you then would be driven off the rate base in the second year, which would be -- if you got into that, you would inflate by what's assumed in the formula, price-cap formula, which is just a straight percentage growth.


MR. HARPER:  So you would be assuming a rate base, which -- to put it bluntly, if it didn't apply for a CI factor, it may be overinflated, because otherwise they would have applied a CI factor.  so you know --


MR. TODD:  Sorry?


MR. HARPER:  I'm sorry, but, you know, you're assuming the rate base would have gone up by your normal CDPI minus X, effectively, even though they didn't apply for a CI factor, which would be one suggestion that they had pretty low capital spending.


MR. TODD:  Well, they would have had normal capital expenditure.  

Remember, the suggestion is there's a 0.5 cushion area, so they were not over that 0.5 threshold.  They may have been a bit above, they may have been a bit below; The assumption is they're in the ballpark.


If what your concern is is that, you know, they don't basically do any spending in the first year and push it all off to the second year ...


MR. HARPER:  That could be one thought.


MR. TODD:  You know, I mean, yes, any PBR or IR regime as incentives, and one of the incentives is to game the system, and when you do an ad hoc design, there's going to be ways to game the system.


There's two checks on that.  One is rebasing; all of this information comes forward.  If you game the system, it's going to be quite transparent that you did.  I mean, if you had ‑‑ if you didn't spend anything in the first year and you spent a bundle and came in for CI in the second year, the truth will out.  And there's the credibility issue.


So that's your basic protection, is that this whole thing will be looked at after the fact.


MR. HARPER:  But maybe just to be clear, because I think at the end of the day we're going to be commenting on the proposal or -- you know, I just want to make certain.  So for your point, if there was investment in the second year, it would just be the load growth for that one year, which we don't have forecast growth.  So I guess if you wanted to have this mechanistic -- I'm assuming it would be if you're looking at last year's historical growth.


MR. TODD:  Yes.  What we're doing is using -- again, it's an approximation, so, you know --


MR. HARPER:  Right.  So it would be one year's growth, and the depreciation value you would be using would be the depreciation from the base year or the depreciation ‑‑ no, it would be assumed to be ‑‑ because you're subtracting off depreciation in your formula.


MR. TODD:  You're using actuals.  So remember that you've also got actual capital spending.  The company has prepared filings for an energy returns officer.  The company's preparing information every year.  So you just advance one year the historical information that gets used.  So ‑‑


MR. HARPER:  We can check with Mr. Ritchie, but I think if I think about the time frame that's required for filing and when people actually file their annual statements for the RRR, I question as to whether the year‑end information from the previous year would actually be available in time to actually do this adjustment on an actual basis.


MR. RITCHIE:  It's Keith Ritchie for Board Staff.  

I believe, in fact, you're correct.  The audited financial statements would be filed in at a later time and not available in time for the rate adjustments.


MR. HARPER:  Thank you.


MR. TODD:  Yeah, but what I was saying:  They're tracking this, so they have to report it.  So you are tracking it through the period, as well.  What we suggested for the first year is using the information in the EDR filings for 2006, three of which were on a forecast basis, as I recall correctly, and the rest were actually historical numbers.  


So those are numbers that have been reviewed and approved by the Board.


MR. HARPER:  Okay, no.  I guess a comment.  Okay, I'm just interested in understanding your proposal, and I now understand what it is.  Okay, that's fine.


MR. TODD:  Any questions before I step down?


MR. SOMMERVILLE:  Mr. Shepherd.


MR. SHEPHERD:  We'll wait for Mr. Todd to find a seat and turn on his microphone.


MR. TODD:  The most important thing is turning off those other ones.


MR. SOMMERVILLE:  Thanks.


QUESTIONED BY MR. SHEPHERD:


MR. SHEPHERD:  Mr. Todd, just, I have one calculation question that I can't resist before I go into the more general ones, and that is:  I did the math on Hydro One 2006, and I got a CI factor of 3.13 percent.  Is that about right?


MR. TODD:  I did not do the calculation for 2006 based on 2005, building off of that.  Is that what your calculation was?


MR. SHEPHERD:  I'm asking whether that's correct or, if not ‑‑ well, if you don't know, can you calculate it for us and give it to us?


MR. TODD:  I think the answer is subject to check.


MR. SHEPHERD:  So will you go check and give us the calculation?


MR. TODD:  Yes.


MR. SHEPHERD:  Thanks.  And, Ms. Frank, 3.13 percent would be about $30 million for you in that order?


MS. FRANK:  On our distribution revenue requirement?


MR. SHEPHERD:  Yes. 
     MS. FRANK:  Distribution revenue requirement of about a billion?

     MR. SHEPHERD:  Yes.

     MS. FRANK:  So, yes, I'm not convinced -- we haven't actually looked, so I'm agreeing that we will go look and provide this information.  I'm not actually in agreement with the number, subject to check.  All I'll say is we'll provide the information.

     MR. SHEPHERD:  Thanks.

     MR. TODD:  So, Mr. Shepherd, you're looking for the percentage increase and the dollar impact of that increase?

     MR. SHEPHERD:  Yes.

     MR. TODD:  Okay.

     MR. SHEPHERD:  So I have three sets of questions.  I have a set of questions surrounding the concept of a capital adjustment factor.  I have a set of questions about your particular proposal for how to do it, which will be shorter.  and then I have some questions surrounding IR generally.

      Let me start with the concept of a capital adjustment factor.  You've said there are two reasons why this is needed.  One is aging infrastructure, and the other is distributed generation.  The easier one is aging infrastructure, and of course every utility everywhere in the world says, oh, our infrastructure is aging; we need to spend more on it.

      I'm wondering whether you can tell the Board what's so special about Ontario LDCs right now that's different from every other utility in the world.

     MR. TODD:  My proposal has nothing to do with the cause of the high capital investment.  It's just -- 

      What my proposal does is say, start with the assumption that somebody, some of the 90, have an extraordinary requirement for capital investment which is, in dollar terms, similar to the impact of a Z factor.

     MR. SHEPHERD:  I'm sorry, Mr. Todd, I didn't make clear.  My questions aren't just for you.  They're for your panel.

     MR. TODD:  Yes.

     MR. SHEPHERD:  And that was actually, I think, intended for Dr. Poray.

     MR. TODD:  So certainly this effort is justifying that Hydro One may require the CI factor in order to be fully compensated for its capital, and certainly that's Andy's ...

     DR. PORAY:  Okay, the need, as we see, is based on the asset condition assessment that we have performed for our distribution system, and that indicates to us the age and status of our assets and what needs to be replaced because it's reaching end-of-life.

     MR. SHEPHERD:  Okay.  And you've already started to ramp up your spending; right?

     DR. PORAY:  We have been working on replacing our assets, yes.

     MR. SHEPHERD:  So you, in fact, had cap-ex approved in your 2006 rate filling of $333 million; is that right?

     DR. PORAY:  That sounds about right, yes.

     MR. SHEPHERD:  Yes, and that's a ramp-up from prior years where rep, you were 250, 280, like that; right?

     DR. PORAY:  I would think that's correct, yes.

     MR. SHEPHERD:  Okay.  So I would have thought – and maybe this is for you, Mr. Todd - that if you're going to assess whether some adjustment for capital is required, you should be starting with a comparison of proposed cap-ex for the year, as compared to prior years.  If there's no delta in the cap-ex, then why would you need a rate increase?

     MR. TODD:  The way I view the proposal is that it is a proxy for cost of service.  So think of it as a cost-of-service model.  

If Hydro One or any other distributor were to come in in a subsequent year with a continued large requirement for capital spending, the fact that they had had a large requirement the year before does not reduce the rate increase implications in a subsequent year, except for very small compounding effect, if you're talking percentage terms, because the prior-year spending becomes embedded in costs.  

This is capital, not operating.  If it was operating, I would agree with you.  If operating goes up and stays high, you need no rate increase after the first year.  When capital goes up and stays high, it has a cumulative impact, because it goes into rate base and stays in rate base.

      And therefore if you have high capital spending, the depreciation increases at a faster rate, the capital costs, interest, and ROE increase at a high rate, and you continue to need those higher rate increases.

      When the rate comes down again, in capital, that doesn't lead to a reduction in rates; that leads to a reduction in the rate of increase in rates.  You now don't need further rate increases if you're not spending very much capital anymore.

     MR. SHEPHERD:  Aha.  That's interesting.  I didn't mean to get to this part yet, but since you mention it, that's a good point to raise it.  So that means that your CI factor would apply each year.  If the company kept spending the same amount on capital each year over three years, and that was a CI factor of 3 percent, then they'd get an additional 3 percent every year?

     MR. TODD:  If they're continuing at a level of spending that justifies and requires that additional recognition of capital, yes.

     MR. SHEPHERD:  Sorry, a conceptual question.

     If they spend at level X.

     MR. TODD:  Yes.

     MR. SHEPHERD:  And it results in a 3 percent, say, CI factor, if they continue to spend at level X, they'll continue to need the same CI factor.  That's the math of your theory; right?

     MR. TODD:  Yes.  And if you actually follow that example through - and I did into a second year, which gets into messy mathematics, so you don't want to see it - the first year is 1 percent, the second year would be .978 percent.

     MR. SHEPHERD:  And the reason is because of the depreciation on the first year's excessive spending.

     MR. TODD:  Yes, the percentage increase declines because your base is increasing.

     MR. SHEPHERD:  Okay.  So let me get back to what I was talking about.

      The second reason why you say there's a particular need for a capital adjustment factor here, as opposed to everywhere else in the world, is because of distributed generation; right?

     MR. TODD:  Can I come out on here versus somewhere else first?  

The point I think I've made, but not clearly, is that in other jurisdictions, they're not designing a regime for 90-odd.  So when they're deciding on a PBR regime, they're looking at a specific company.  They're designing a regime that's appropriate, recognizing the condition of that company.

      And I would suggest - and Mark may want to comment on this - that if you had a company that had an exceptional need for capital investment in the coming years, that that might be a reason to go to cost-of-service regulation or to defer the implementation of PBR.

      I've seen that, in the case, for example, of Terasen

Gas, went through a PBR regime when there was extraordinary requirements.  They went back to a cost-of-service model for a couple of years.  So there's a selection bias there.

      Here we're dealing with 90, so we're not able to say our regime is appropriate for each one individually.  And

I'm thinking of it not just from Hydro One's perspective, but I'm simply saying you have a range of requirements. 

You want a mechanism that recognizes that some may have high capital requirements.  And from my perspective, what's driving that is not relevant unless your suggestion is it's not legitimate.

     MR. SHEPHERD:  Okay.  So your rationales for a CI factor are actually quite different.  You're saying because there's 90-odd of them, there's going to be a sort of distribution of capital costs across the set.

      And you have to have a system that deals with the ones at the high end of that distribution; right?

     MR. TODD:  Yes.  And clearly Hydro One retained me to give this evidence because, in their view, I would assume they may need it and they're one of the ones in that category.  I've not checked that, but Andy will continue to speak to that point.

     MR. SHEPHERD:  Okay.  But, Dr. Poray, Hydro One is not saying, We have this distribution, we should have a system to cover these people at the top.  What you're saying is, Here are some specific reasons why capital expenditures over the next few years are going to be high.  Right?

     DR. PORAY:  We are saying that there's a need for investment capital, yes.

     MR. SHEPHERD:  And we heard that from Ms. Anderson the other day, and we've heard that generally from lots of utilities.

      So let me come back to distributed generation.

      I always understood - and Hydro One's in the unique position of being a transmission and a distribution company - that one of the benefits of distributed generation was that it reduces the cost of transmission, because you don't have to have as much transmission to move generation back and forth.  It's not as lumpy; isn't that right?  That's a basic principle of distributed generation?


DR. PORAY:  Not necessarily.  It depends where that generation is put.


MR. SHEPHERD:  But isn't that intended to be one of the benefits of it?


DR. PORAY:  Oh, I think the main intent of distributed generation is to increase the supply in the province and not to reduce transmission.


MR. SHEPHERD:  No.  Well, that's ‑‑ okay, sorry.  It's called “distributed” because the distribution has a value?


DR. PORAY:  It does have a value, yes.


MR. SHEPHERD:  The value of reduced transmission costs; right?


DR. PORAY:  It may in some areas, but not in others.


MR. SHEPHERD:  But, in fact, haven't you filed a transmission rate application that asks for additional capital expenditure because of distributed generation?


MS. FRANK:  Maybe I can speak to that.  We have recently, on September 12th, filed a transmission application.  What we're finding is distributed generators are not being told where they need to locate.  If they would locate close to load, there would be no need to increase either transmission or distribution, other than a connection cost.


They go where it makes most sense from a generator, which normally means close to their source of energy that they're using for generation.


What we're finding is that doesn't tend to be in the high‑load territories, so we typically have to bring things into southern Ontario -- power into Toronto, and yet you build it up at Bruce or you build it somewhere else that really isn't very close.  And our transmission system is not prepared today to be able to provide energy, from wherever that distributed generator locates, into the load supply without additional investments.


MR. SHEPHERD:  So it sounds like what you're saying is that distributed generation is actually ‑‑ conventional generation increases transmission costs and transmission capital expenditures, and it sounds like what you're saying is distributed generation is going to increase that and increase distribution costs, as well.  It's net negative.


MS. FRANK:  It depends on where the generator locates.  It may make most sense for the transmission to be the solution, because it's a large source.  If it's a smaller source, a lot of the wind will connect to a distribution system, not a transmission system, and then, How far do you have to carry it?  Is there a load growth to accommodate that generation in the area where it's locating?  If it is, then it's not a big deal, but we're finding typically that's not where they're locating.


MR. TODD:  Mr. Shepherd, the issue was addressed, to some extent, in the cost-allocation process that the Board has held, and, sorry, I forget the file number.  It's ongoing, another process, something like this.  


And one of the issues raised there is the reliability of the distributed generation, and there is ‑‑ there are issues around the diversity benefits you achieve if you have multiple sources of distributed generation.


But certainly in the absence of diversity, you need backup distribution supply, and we're talking about distribution‑connected facilities right now but, similarly, for transmission.


So the distributed-generation issue is a complicated one.  It's not all small‑scale stuck in some neighbourhood that removes the need for electricity to come into that neighbourhood.


Some of it is actually small‑scale but, you know, wind in the Bruce, which is to serve Toronto.  Some of it is not in an area where you achieve diversity benefits.  Some of it is, admittedly.


And so it's a complicated impact on the distribution and the transmission system.


MR. SHEPHERD:  I have to say, Mr. Todd, I've been involved in distributed generation issues since 1985 and it's the first time I've ever heard anybody say that transmission and distribution costs increase because of distributed generation.  I've never heard that from anybody.


MR. TODD:  No, no.  If you've got additional generation, whether it's large‑scale, whether it's distributed generation, there are impacts on the costs.  

Take wind as an example.  Wind is not available at 100 percent of its capacity all the time.


MR. SHEPHERD:  No generation is available at 100 percent.


MR. TODD:  No, exactly.


So you still have a requirement to meet the load.  And the fact that you have some wind generation doesn't change the fact that you still have to, in all hours of the year, in all minutes of the year, be able to get power to the load.  So there can be circumstances where you end up with virtually duplication, but that's where the diversity benefits come in.


As DG grows and you get greater diversity, you know, 10, 20 years down the line, there should be a lot of diversity benefit.


MR. SHEPHERD:  So instead of saving money, we get redundancy, and that's the benefit, not the cost savings?


MR. TODD:  The short run versus long run.


MR. SHEPHERD:  Okay.  And this is not really the forum to have this debate.  I just didn't know quite what to say.


Now, still at the question of whether you need a capital adjustment, Mr. Todd, you said that a price cap by its very nature presents an incentive not to spend money; isn't that right?


MR. TODD:  Yes.


MR. SHEPHERD:  And it's true that the longer it is, the more that's true - isn't it? - the longer the price cap?


MR. TODD:  Yes, the longer -- the longer term that the benefits accrue to the company, the bigger the payoff from not spending money; although, a nuance of that is, Are you avoiding spending money that's sort of just this year?  It's got to have a multi‑year impact, the not spending.  So a staff reduction, a permanent reduction, is going to pay off each year.


MR. SHEPHERD:  So cap-ex, for example, is ‑‑


MR. TODD:  Cap-ex, if you can defer it for the full term.  A one-year deferral, of course, if you can only defer one year, it doesn't matter how long the term is.  So there's some nuances there.  But generally speaking, yes.


MR. SHEPHERD:  That's getting to the question which, intuitively, it seems to me that in a short-term price cap, if you've got one year or two years, in fact, you're more likely to spend heavily on long-term expenditures like cap-ex because that sets a higher base for your next generation of IR.  And I think Dr. Lowry alluded to this the other day.  Isn't that, in fact, true?


MR. TODD:  Okay.  There's a ‑‑ you know, you're talking about how to get the most out of the system.  Some people refer to that as “gaming.”


MR. SHEPHERD:  I'm talking about incentives.  I'm talking about, if you're a utility manager, what are you most likely to do, given the structure of the system?


MR. TODD:  Okay.  If you have a regime which you can go in, in the rebasing, and you can have your planned capital expenditures recognized in rates so that they will be fully compensated from day one, then your incentive is to save that until you can go in and get it compensated.


If you have a regime where there's delayed recognition - so I go into the next regime and I'm going to have my historic level of capital expenditures recognized, but nothing more - then you have an incentive to get your historic -- you know, what will become your historic level up, so that the capital expenditures are recognized and get built into rates.  


And that's only with regulatory lag.  Without regulatory lag, you don't have that incentive.


MR. SHEPHERD:  And, in fact, the cost of accelerating cap-ex by a year, let's say, is not actually all that much, right, because over the ‑‑ in terms of the life cycle costs of very long‑term assets, losing a year or two years off the front end in order to get bigger budget for five years is worth it; right?


MR. TODD:  Hydro One's depreciation, overall average, is about 2 percent as capital cost.  Ballpark speaking, with the numbers in my example, 8 percent on the interest and ROE, which is another part of this process, will have an impact on that number.  You're talking in the area of 10 percent.  


So it's saying that if you are spending in capital about a $100 million, that's a $10 million cost on a year‑by‑year basis.  Each year, $10 million will flow through to the shareholder's bottom line as an amount they're not compensated for, if you spend above the implicitly recognized level.


So I would say -- you know, 10 percent of your capital costs I would not say is insignificant.


If in the new regime you have a delayed ‑‑ you have a mechanism that delays the recognition of capital, yes, you want to get it done early so it's recognized.


But, frankly, my assumption is that in third-generation IR, there will be a mechanism for recognizing capital as it goes into service.

     MR. SHEPHERD:  And, of course, that will be influenced by how much was spent in prior years; right?

     MR. TODD:  Why?  How will it be influenced?

     MR. SHEPHERD:  You've been in regulatory hearings. 

Have you never seen a Board Panel influenced by the fact that you spent $250 million last year so we think that's a pretty good number for this year?

     MR. TODD:  Oh, in terms of what's perceived as being reasonable.

     MR. SHEPHERD:  Yes.

     MR. TODD:  I think that's more the case on O&M.  What

I've seen of PBR regimes, the B.C. as an example, there is a separate cap review, and, yes, that may add somewhat to the credibility.

      But it's really got to be justified, project by project, in terms of major items.

     MR. SHEPHERD:  Let me talk now about what you have specifically proposed.  And as I understand it - and maybe I didn't get this at the beginning, and I certainly didn't get it from your paper, but as the questions have gone on, I think I get this - that you're saying that a pre-condition of getting any CI factor would be an asset condition assessment; right?

     MR. TODD:  That's a suggestion, yes.  It's not -- frankly, it's not a necessary feature of the design, but it's a protection that I've suggested.

     MR. SHEPHERD:  You're intending to impose a discipline on the utility?

     MR. TODD:  Yes.

     MR. SHEPHERD:  That you don't get extra money unless you're doing this right?

     MR. TODD:  Yes.

     MR. SHEPHERD:  All right.  And then you've said there's two ways of figuring out how to project the capital expenditures.  One is a detailed capital plan, and the second is this asset condition assessment plus a trend analysis.

      And you described this a little bit to Mr. Harper, and I didn't get how that would work, the second way.

     MR. TODD:  Okay.  My perceptions are tailored a bit by my personal experience, obviously, over the last 15 years in electricity or energy rate cases, and so on.

      Capital budgets by line item, I've observed, are very hard to predict and live by.  One of the reasons why Fortis B.C. has moved capital expenditures outside of their PBR regime and they're just treated separately is because, on a category-by-category of capital expenditure, the variances were quite large.  

Same thing was experienced with B.C. Gas, now Terasen B.C., Terasen.  Although, on a global basis, capital expenditures were fairly close to budget.

      And capital expenditures usually are not lumpy in the sense of one-year big capital expenditures.  It tends to be a period of work that has to be done.  We see that in New Brunswick Power, we see that in BCTC, we see that in some cases in Ontario.

      And therefore, in my view, when we're dealing with this 90-odd utilities, some of which are very large and some of which are very sophisticated, some of which are not in that category, there is quite a variety of capabilities in terms of coming up with an explicit capital plan, looking forward several years.  

And therefore what we said is - this is what I've said - essentially, if you have a well-developed capital plan and you know what you're going to spend for the next three years, provide it.  If all you know is that I'm in a period of high capital spending, we've been driven up in the last couple of years and that's continuing and you have done your review of your assets, then it may be sufficient to say, We're in this mode.  We've got this problem.  We're spending at a high level.  Here's our trend line.  We're going to continue spending at that level, but we don't know explicitly on what; that could be brought forward.

     MR. SHEPHERD:  You went over the part that I didn't understand real fast.  Here's our trend line?

     MR. TODD:  Yes.

     MR. SHEPHERD:  So you're just going to take the last two or three years and do a slope and say, Well, then we're going to continue to increase that the rate; is that right?

     MR. TODD:  My assumption of trend line is more, we've got a high level and we're going to continue at a high level, so it doesn’t necessarily have a slope on it.  It just has a high level that –- your example, Hydro One, would have had a CI factor of 3 percent last year, except they've got a capital plan, so I don't think they have to use that route.  But if they had showed that their capital spending for the last three years has been at a level that required a CI factor, a flat line in terms of the level of capital spending would justify a CI factor by extrapolation.

     MR. SHEPHERD:  Okay.  That's not what it sounded like you were saying before, so let me just --

     MR. TODD:  Then I miscommunicated, and I apologize.

     MR. SHEPHERD:  Let me just drill down a bit on that. 

Hydro One had a budget of 333 million this year approved by the Board.  You're saying that you can use that for the next year if they can show that their asset condition's still bad?

     MR. TODD:  Yes.

     MR. SHEPHERD:  And you would calculate the CI based on

333 million?

     MR. TODD:  Yes.  It's not taking 150 the year before, or 330 this year, or 450 the next year.

     MR. SHEPHERD:  Well, no, but what you said was, if the

CI factor was 3.1 last year, you would use that, but that's not what your formula says.  So I'm asking:  Are you saying use last year's CI factor, or are you saying use last year's capital budget?

     MR. TODD:  Use last year's capital budget, if the company is saying that's the best way to forecast what we'll spend next year.

     MR. SHEPHERD:  All right.

     MR. TODD:  Some forecasts are based on past experience; some forecasts are based on sort of a bottom-up calculation.

      I would love to be able to say everybody's got to develop a very careful, very thorough capital budget, and if they want a CI factor, you know, have it all itemized. 

Frankly, I don't think that's realistic in Ontario for the term of the second-generation IRM.  And therefore we're saying, Okay, it may be necessary and appropriate to allow past experience to be the basis for the forecast.  The company will still face the day of reckoning, come rebasing.  

So if they've got a high spending last year, they better be confident they're going to continue to spend that high level, because if they're not, then don't ask for a CI factor. 

     MR. SHEPHERD:  All right.  And so you're suggesting that this is sort of a free ride.  If the utility says, We need the money, they get it?

     MR. TODD:  I'm not suggesting it's a free ride; you're suggesting it's a free ride.

     MR. SHEPHERD:  Oh, sorry --

     MR. TODD:  I'm suggesting it's in response to requirement to invest capital.

     MR. SHEPHERD:  But you're saying that should not be tested by anybody.

     MR. TODD:  I'm saying that embedding that in rate base on an ongoing basis is not pre-approved -- if you're concerned and you say there should be a mechanism for claw-back, I'd say, Fine, perhaps putting a claw-back mechanism in would reduce the need to actually exercise it.

     MR. SHEPHERD:  Have you seen anywhere in the world where a regulator has said to a utility, Spend as much you want and come by later and we'll talk about whether or not it was a good idea?  It was a rhetorical question.

     MR. TODD:  In essence, companies go out and spend and have to justify their capital -- some companies -- no, some jurisdictions include in the rate case a capital plan which is approved by the regulator and gets built into rates and cannot be looked at again.

      Typically when that is done, any changes to the capital plan are subject to review.  So, for example, a company may have a capital spending of $100 million reflected in rates.  They had a capital plan.

      Three projects don't go ahead.  They bring other projects in.  That is done at their risk.  They can be -- because they were not, those specific capital expenditure items were not pre-approved, they are not subject to review by the Commission and have in cases been disallowed.  I've seen that in Manitoba, seen that in B.C.  That happens.

     MR. SHEPHERD:  Have you seen it in Ontario?

     MR. TODD:  Yes, I have seen capital expenditures disallowed after the fact.

     MR. SHEPHERD:  After the fact?

     MR. TODD:  When there's a change in programs or when there's a change in what something cost.

     MR. SHEPHERD:  Okay.  You can provide us with some examples if we ask you for some examples, other than transition costs?

     MR. TODD:  Well, one example some people will be familiar with, for example, Marika probably remembers there was a high level of expenditure on putting in some pipe for Enbridge, where they discovered they were going through a landfill site, I think it was.


MS. HARE:  Yes.  It's Marika Hare.  

That was the Mississauga southern link, but there are other examples.  And I was dying to jump in here.  Is that not the utilities' biggest complaint, which is the risk of regulatory disallowance after the fact?  I mean, wouldn't utilities do everything possible to avoid that situation?


MR. TODD:  That's precisely my point.


MS. HARE:  But I had misunderstood.  I thought you were putting that forward as a solution.


MR. TODD:  What I'm suggesting is that given our second-best alternative world here, there's two options.  And, in essence, if we look at it from the utilities' perspective, they can either receive no compensation for going out and spending the money that they feel has to be spent until rebasing, or they can spend the money with no compensation and still face that risk.


If a company -- if Hydro One, for example, spends money in 2007, 2008, 2009, it's going to face the risk of disallowance come rebasing, whenever rebasing happens for them, regardless of the mechanism.  And, therefore, they are going to do exactly what you said, which is make sure they can justify what they've spent.


All this proposal does is it doesn't remove the risk of disallowance; it simply says, If you spend the money, it's not going to come out of the shareholder's pocket; it's going to be recognized through a CI factor if it's an extraordinarily large expenditure.


And so you will get that expenditure reflected in rates immediately, not with a delay.  That's all we're saying here.


Either case, there's regulatory risk around disallowance, and, therefore, they'll be careful how they spend the money.  That's the way they avoid the regulatory risk.


MS. HARE:  But in the one case, it's really on an exceptional basis that a utility is asked to justify after the fact; and, in the other case, where you have the mechanism set up as a claw‑back, you're actually setting it up as part of the system.


MR. TODD:  Which is why I haven't suggested it, because I don't think it's necessary.  I think it's sufficient that there's a risk that's just not going to be embedded in rates.  I'm just responding to Mr. Shepherd and saying if he feels, and if the Board agrees with him, that there's insufficient discipline on the companies, then the Board at its discretion could go beyond my proposal and put in a claw‑back factor.  I'm not recommending it.


MR. SHEPHERD:  What you are recommending is -- are you finished?


What you are recommending is that the capital spending for the interim period be fully reviewed on rebasing.  So rebasing would not just review the budget for future years, or the test year, or whatever; it would also fully review prior-year capital spending, which is not normally done?


MR. TODD:  Normally, any capital expenditure must be reviewed and approved at some point in time.  Companies like to have their capital spending reviewed in advance and have the expenditure approved in advance to minimize the risk.  There is no opportunity to do that in this second-generation IRM model. 


Therefore, there will be a day of reckoning, come rebasing, no matter how you design this, unless you get into the other scenario, Mr. Shepherd, where, if you don't do that, the companies can do exactly what you said, go out and spend as much money as they want on whatever they want and have it automatically accepted upon rebasing.  

Without the CI, they'd bear the costs for the first couple of years.  But it's automatic?  No, I don't think that's what's going to happen.  I don't think that it's going to be automatic.


So all I'm saying is, given that there will be a review, given that that risk is in place, we can put in a mechanism which recognized the costs as they are incurred.


MR. SHEPHERD:  Let me turn to something else.  We'll come back to that, but let me turn to something else.


You said just a few minutes ago, Think of this as cost of service for capital expenditures; right? 


MR. TODD:  I was referring to this whole second-generation IRM, and Mark Lowry, Dr. Lowry, has referred to this as an "attrition mechanism".  We're all moving away from that word "incentive mechanism."  I was referring to the entire box, as this is a way of trying to approximate what cost of service would do in a very broad‑brush way, that says, Let's make some adjustments.  We're not going to have an individual cost‑of‑service review, but we're going to have a proxy for it.


MR. SHEPHERD:  Okay, sorry, that's not what I understood you to say.  What I understood you to say just a few minutes ago was think of the capital size as being cost of service and the O&M side as being a formula.


MR. TODD:  Then I miscommunicated.  What I thought I was saying was think of the regime as cost of service.


MR. SHEPHERD:  But you are saying that the capital side should be driven by actual spending needs and the operating side should be driven by a formula that is common to all; yes?


MR. TODD:  No.  What I'm saying is that in exceptional circumstances related to capital, it may be appropriate to have a factor similar to the X factor, which says, Here's an unusual event where an LDC may suffer, in effect, hardship by doing the right thing.  We want them to do the right thing.


MR. SHEPHERD:  Sorry, but my point is that you're not proposing that they are allowed to do that for labour costs?


MR. TODD:  If -- if there was a comparably serious problem that I was aware of on the operating side; i.e., the same kind of dollar impact.  However, the kind of impacts there are probably picked up on the X factor side.  You know, where do labour costs go up?  You have an ice storm.  You pay a bundle of overtime.


MR. SHEPHERD:  I guess what I don't understand is if you --


MR. SOMMERVILLE:  Do you mean Z factor?


MR. TODD:  Z factor.  What was I saying?  Yes, I meant Z factor.  I think we've got too many factors floating around.


MR. SHEPHERD:  I think it may have actually been Freudian.


MR. SOMMERVILLE:  We'll have to ask Mr. Todd about that.


MR. SHEPHERD:  What I don't understand is why -- if this is such a problem for some utilities, why don't you give utilities the option?  Why don't you propose that utilities be given the option of splitting their application, as is done elsewhere, and have a formula for O&M, and on the capital side do cost of service?  Because what you're saying is, We're going to have to look at the capital budget sooner or later, anyway.  


In fact, we'll have to look at the actuals.  So ‑‑ and utilities, in fact, prefer to look at it in advance so they get their approval in advance.  So why don't we just do that?


MR. TODD:  If you do that, you are then into exactly what the Staff proposal is trying to avoid, which is hearings to get us through to the rebasing.


Where I was coming from is there is a Z factor.  There is a mechanism in the current design which, in unusual circumstances, will require a company‑specific adjustment.


MR. SHEPHERD:  And a hearing.


MR. TODD:  I don't think that that's a hearing.  I think that is ‑‑ would be an expedited process, because it would be looking at one piece out of context, an ice storm that filed some numbers.  It would be a very streamlined process and ‑‑


MR. SHEPHERD:  Sorry, before you go on, you're suggesting that the Z factor should not have a public process?


MR. TODD:  It would probably be a -- I mean, I'm making an assumption.  I have no idea what Staff has in mind for the treatment of Z factor.  I've tried to flesh out the CI factor in a way that's comparable to what I've assumed about the Z factor, which we haven't seen the details of the calculations on.


MR. SHEPHERD:  Which is?


MR. TODD:  But which is that there would be some information filed, an adjustment made.  If I were Staff dealing with Z factors, I would do exactly what I propose for the CI factor, which is say, Give us your numbers.  We're not going to sit down and have a hearing in the interim.  Give us your numbers.  We'll allow something, and we'll review it as part of rebasing.  Because otherwise, I mean, can you imagine an ice storm that spread across Ontario and we have 30 LDCs that have been seriously affected?  You're not going to have 30 hearings.  


In the interim, before you get to rebasing, just to deal with that ice storm and the costs of that.  You need a simplified mechanism to deal with it. 

      You know, it wouldn't make sense to deal with, particularly a widespread phenomenon that was a cost burden on the utilities.

     MR. SHEPHERD:  Of course, that's what the Board did last year; right?  They had hearings for everything that had a material impact on rates.  You're saying don't do that this year?

     MR. TODD:  The Board last time around had a rate-setting process.

     MR. SHEPHERD:  Yes.

     MR. TODD:  It has said, We're moving to third-generation IRM.  They've now said, We want a process to bridge from the EDR to that mechanism.  

And perhaps I totally misunderstand the Board's intent, but I have said right up front, I have just tried to design this proposal to be as consistent as possible with the staff proposal, which frankly has put quite a number of constraints on what I would propose, because I'm doing what I think they're trying to accomplish by dealing with the capital issue.

     MR. SHEPHERD:  If you have an additional recovery for capital expenditure that's not available for operating expenditures, as you're proposing, that incents utilities to game, right, as between cap-ex and op-ex?  


MR. TODD:  The substitution of capital for labour does not work on a short-term basis.  You have to buy out labour if you are displacing them.  It takes a period of time to get that back.

      In a five or ten-year regime, that kind of capital for labour substitution is a concern.  Perhaps in a longer term -- you know, perhaps less than five years, but it takes a minimum of a three-year regime to get into that.

      The chances of that paying off, just from a pure gaming perspective, in my view, is minimal here.

     MR. SHEPHERD:  I wasn't so much thinking about firing all the employees and replacing them with a computer.  I was thinking more of the sort of day-to-day utility manager’s decisions about how you solve problems.

      And typically, problems have operating solutions and capital solutions and mixes - usually they're all mixes – of varying splits.  And you have to make judgments as to what the best choice is in the long term, and isn't it true that this sort of mechanism tells the utilities, Solve your problems with capital to the extent that you can, because you're more likely to be able to recover that?

     MR. TODD:  Your question used the phrase "how to solve it best in the long term."  I agree with you entirely.  I don't think that the two-year IRM, which is specifically delinked from third-generation IRM, is going to change the long-term best decision.

      If they go the capital route, they are committed.  And most substitutions are things such as information systems -- you know, when I think of practical examples of what you can do.

     MR. SHEPHERD:  Yes.

     MR. TODD:  Like a customer-information system that reduces the number of people taking phone calls or something.  That has long-term implications for the company.  

     MR. SHEPHERD:  So you're saying the $10 million savings, the $10 million increase in ROE in one year wouldn't be material enough to make that long-term decision, say?

     MR. TODD:  All that the CI factor does is compensate them for costs actually incurred; right?

     MR. SHEPHERD:  Mm-hm.

     MR. TODD:  There's no bonus there.  So it's removing a negative or a disincentive.  It's not saying, You're going to make extra money by going the capital route.

     MR. SHEPHERD:  That's not correct at all, Mr. Todd --

     MR. TODD:  Now, if you substitute, if you have to get a payoff, you have to reduce your operating.  Your operating is primarily people.

     MR. SHEPHERD:  Mr. Todd, if you have a choice of hiring ten people to solve a problem or buying a computer, this system says, buy the computer; right?

     MR. TODD:  And that's a long-term commitment.

     MR. SHEPHERD:  Absolutely.  But in the short term, every dollar you would have paid those employees, those new employees, goes directly to your bottom line; right?

     MR. TODD:  If you're talking about hiring new employees, okay.  Most of the substitution effects are reducing employees, which you dismissed at the beginning of your comments.

     MR. SHEPHERD:  All right.  So still dealing with the sort of concept, this isn't the first time that a big lump of capital expenditures has been dealt with by Board.  The last time the Board had to deal with it, they had deferral accounts, the transition costs; right?

     MR. TODD:  Yes.

     MR. SHEPHERD:  And lots of people didn't like that very much, but at the end of the day that worked; right?

     MR. TODD:  Yes.  And I was one of the people who didn't like it very much, because of all the problems with deferral accounts, and we've got too many deferral accounts and too much deferred costs, but that was an option for dealing with this.  I did not choose to recommend that option.

     MR. SHEPHERD:  That, in fact, does essentially exactly the same thing, except that recovery starts when the expenses have been approved; right?  Otherwise, it's identical, pretty well.

     MR. TODD:  The recovery of costs does not match the used and useful test, because if you are incurring the costs up front, the assets are used and useful, you are not recovering the costs from customers until a later date.  

In other words, you are recovering it -- there's an inter-generational or inter-year inequity there in that these assets are used and useful in the early years, and, yes, you are deferring the recovery of the costs, but what you're doing is compounding recovery in future years and giving the early customers a free ride.

     MR. SHEPHERD:  Well, yes, but --

     MR. TODD:  And mathematically, that's an alternative and that's a choice.  It's not a choice that I chose to recommend.

     MR. SHEPHERD:  But let's talk about the mathematics of that just a bit.

      You've said the average depreciation is 2 percent, which means the average asset is 50 years.  So if there's a two-year delay in recognizing something, that means it's amortized over 48 years, instead of 50 years.  That's not a lot of impact, is it?

     MR. TODD:  Well, depending on how it's done, if you've got a deferral account, normally the deferral account would not be recovered over the subsequent 48 years.  The first two years would be recovered in the one, two, or three years immediately following, depending on the rate impact.  

And so that five years of collection may be reduced to three years of collection, or three years of collection may be reduced to one year of collection, depending on the dollars.  And that is commonly done.  I accept that.

      It doesn't change, in my view, any of the things that you're concerned about.  It doesn't change the issue of, you know, will they spend too much and, you know, recover the costs at a later date?  None of those issues go away.

     MR. SHEPHERD:  Let me just ask just a couple of brief questions about the details.  As I understand the formula you would use, it's the projected increase in net fixed assets per year.  When you do the calculation -- and first you have a -- sort of an assumed set of capital expenditures you're going to make over the period that it applies to; right?

     MR. TODD:  Yes.

     MR. SHEPHERD:  And you do that by trend analysis or by budget.

     MR. TODD:  Yes.

     MR. SHEPHERD:  And then what you're proposing is that the utility will or somebody will do a pro forma of the rate base over that period; right?

     MR. TODD:  Well, we're not really doing a pro forma of the rate base; I'm simplifying that because we're trying to avoid a review process.

      The only input, if you want, is the level of capital expenditure, because then we're not looking at other parts of the rate base than capital expenditure, so working capital is --

     MR. SHEPHERD:  It’s depreciation.  I saw your formula.

     MR. TODD:  That's a sort of depreciation.

     MR. SHEPHERD:  Does it have depreciation?

     MR. TODD:  Yeah, we're using historic depreciation.  So we're not working through a full forecast of rate base and going through the full forecast calculation.  We're taking historic numbers that have been filed and approved as part of the ADR and we're calculating ratios.  Everything done is percentage changes.

     MR. SHEPHERD:  So the depreciation that would be used would be the last actual year that you have available?


MR. TODD:  Yes.  Approved, yeah.

     MR. SHEPHERD:  See, I thought the concept of your formula was if your capital investment is greater than your depreciation for the year, plus the capital share of your rate increase you've already been given, then you've over-expended capital; right?  That's the basic concept.

     MR. TODD:  Yes.  

MR. SHEPHERD:  And that's how much -- that's what you have to recover; right?


MR. TODD:  Yes.


MR. SHEPHERD:  But if you're not updating depreciation, then you're actually giving too much; right?


MR. TODD:  The starting point is to use approved numbers, and there are rounding errors involved.  We're not ‑‑ we're trying to avoid ‑‑ I don't want to trigger the need for a hearing, and there is a number of bits of rounding involved.  That's what I was referring to in terms of the precision before.  This is imprecise.  The entire formula is imprecise.  


The 1 percent X factor, productivity factor, is ‑‑ sounds okay.  So, you know, my joking but not really joking comment about significant digits, this whole thing is correct to one digit in front of the decimal, in terms of the percentage increase.  Everything else is rounding errors.


So I'm trying to do a calculation which goes off of approved numbers that are on the record so that we can do a calculation which gets you pretty close.


The only thing that isn't based on the historic approved record is the expected capital expenditures, and that's a deviation that's accepted, because it's reviewed and approved, or not, at the subsequent rebasing hearing.


MR. SHEPHERD:  The other component of this calculation is load growth?


MR. TODD:  Yes.


MR. SHEPHERD:  And, of course, one of the things that the Board Staff structure has ‑ because it's a price cap - has avoided is the whole battle over load growth that you have in every cost‑of‑service rate case.


But you're bringing it back in.  How do you propose to deal with that?  


MR. TODD:  Well, again, we're using the past trend, because we're using approved numbers.  I mean, there's numbers that have been accepted that are on the record in the EDR filings, and historic information, which gives you a load growth percentage.  Again, what we're doing is picking numbers that are better than zero.


MR. SHEPHERD:  So you're talking about past approved or past actual?


MR. TODD:  Approved, where you don't have actual; actual, where they've been filed and given to the Board.


MR. SHEPHERD:  The reason I ask that is because in EDR, there were only three forward test years.


MR. TODD:  Yes.


MR. SHEPHERD:  And the rest were all historic test years.  So presumably you're using actuals in those cases, not --


MR. TODD:  Yes.  Yes.  And they're a little bit out of date.


MR. SHEPHERD:  And you're proposing one‑year load growth?


MR. TODD:  I don't specifically specify.  It could be based on multiple years.  What you want is to be based on filed information.


MR. SHEPHERD:  Now, if somebody has negative load growth, like Hydro One has 2 percent load growth --


MR. TODD:  Yes.


MR. SHEPHERD:  ‑‑ for last year, I believe, then negative load growth adds to the CI factor, doesn't it, in your formula?


MR. TODD:  That's right, because they're getting less revenue to compensate for capital investment.


MR. SHEPHERD:  So -- and by using historical load growth, if somebody had a negative load growth in their last rate case, you're locking it in; right?


MR. TODD:  Yes.  What you're doing is assuming that that load growth is going to continue in the same pattern.  You're assuming business as usual, which -- you know, that trend will continue, which is the entire premise of the price-cap regime.


MR. SHEPHERD:  Do you have a spreadsheet built that ‑‑ I know Ms. Frank.  I know she asked you to build a spreadsheet and do a sensitivity analysis.  So can we have the spreadsheet that you built to model how this formula works in the real world?


MR. TODD:  You have all the numbers that I have generated.


MR. SHEPHERD:  So you have not built a spreadsheet?


MR. TODD:  I have not built a spreadsheet.


MR. SHEPHERD:  Okay.  But you're going to calculate this for Hydro One; right?


MR. TODD:  It's going to be calculated.


MR. SHEPHERD:  So then can we have that in spreadsheet form so that we can then put in other numbers and see the sensitivities, please?


MS. FRANK:  I imagine this is a little Excel sheet?


MR. SHEPHERD:  Yes.


MS. FRANK:  Yes, you can have an Excel sheet.


MR. SHEPHERD:  Wonderful.


MR. SOMMERVILLE:  Mr. Shepherd, just let me interrupt.  It is our intention to continue until we conclude this presentation portion of the material.  So just so that you can plan your ‑‑ the rest of your morning, we are going to sit until we are finished this portion.


MR. SHEPHERD:  And I can tell you I have about two minutes.


You've answered most of my questions.  I just want to ask a couple of general questions about IR.


You said, Dr. Poray, that a basic principle that you're working from in this analysis is incentives drive behaviour.  But I take it that you're agreeing with Dr. Lowry and others who have said that's not really very much the case in this second generation; it's more because there's not enough time to really incent people very much.  Is that right?


DR. PORAY:  That's correct.


MR. SHEPHERD:  Okay.  I've quoted to a number of people this concern from Thunder Bay that a fixed productivity factor hurts utilities with negative load growth.  You have negative load growth.  Is that a concern for you, too?


DR. PORAY:  Well, I guess it's a representation of what's actually happening on the system.  That's not to say that it will continue.  It's -- just hang on for a second, please.


[Conferring]


MS. FRANK:  We looked at that question, and, indeed, when there's negative load growth and you still have to find the productivity with a fixed factor, it's a challenge.  But in this blanket approach, which second generation is, there are winners and losers.  We accepted that as that's ‑‑ it's a reasonable second-generation approach.


It will be harder when you don't have the benefit of the load growth, so I agree with what ‑‑ the concern that was expressed.


MR. SHEPHERD:  Now, in the case of Hydro One, obviously you're a more sophisticated operation than Thunder Bay, which is not to say anything bad about them, but just you're a lot bigger, you have a lot more resources.  You can presumably handle a problem like that better than they can, than a small utility can?


MS. FRANK:  No, I would say we all have the ability to look at ways of reducing our costs and we will either be successful in making that reduction and our bottom line return will be as the Board anticipated, or we'll be unsuccessful and our shareholder will pay the price.


But I don't think we have different opportunities to reduce costs, one or the other.  I think we all ‑‑ we can all look at and we should all work toward improvement.  I think Ottawa has said they always do it.  I am certain all the utilities look at how they can be more cost‑effective, and I don't believe one utility's in a different position than another.


MR. SHEPHERD:  Different utilities have different current levels of efficiency; right?


MS. FRANK:  That's true, but you can always get a bit more.  Otherwise, we would have said zero is appropriate or negative is appropriate.  A number of 1 percent, we figure, will be a challenge.  It won't be easy, but it's still not unreasonable.


MR. SHEPHERD:  So your feeling is that the Board shouldn't do anything specific to ameliorate the problems of a utility like Thunder Bay or others that are in a similar situation?


MS. FRANK:  Mr. Shepherd, of all the things that are wrong with the second generation, it's simplicity.  This is not the one I'd fix.


MR. SHEPHERD:  All right.  Thank you for your assistance.


MR. KAISER:  Thank you, Mr. Shepherd.  

ECMI, do you have questions?


Is there anyone else who has questions for the presenters here?  

Mr. Harper?  

I think perhaps we'll have -- Ms. Hare has a question.  She has to leave shortly, and we'll proceed with her question, and then we'll come back to you to conclude.
     MR. HARPER:  That would be fair, actually, because one of my two issues was actually following up on some issues which I was hoping to pose to get Board Staff's input, as well.  So I don’t know if that requires Ms. Hare to be here.  But I will put that question first, if I can, and then proceed with the other ones.
     MR. SOMMERVILLE:  You better do it now, then.

FURTHER QUESTIONED BY MR. HARPER:
     MR. HARPER:  Okay.  Well, then, I'll just cover this one.  It had to do with the exchange that Mr. Shepherd had with Mr. Todd about Z factors and understanding how they would work.  And there seemed to be some, you know, for want of a better characterization, misunderstanding perhaps between Mr. Shepherd's view as to how he thought the Z factor proposal from Board Staff was going to work and Mr. Todd's proposal as to how the Z factor proposal from Board Staff was going to work in terms of what would be involved in terms of a filing and the level of review that would take place involving people other than Board Staff.  

And I was wondering, just for clarification, as we look forward to writing our final comments, if Board Staff could clarify that issue with us in terms of what had been their understanding in terms of Z factors, what sort of form of application, level of review, level of stakeholder involvement in that review would be involved.  

MS. HARE:  So our paper actually didn't get into that level of detail, and that's why there is some confusion.  But I would think that -- actually, I think it was Mr. Shepherd that thought that there would be review by all interested parties.  And I do think that that's what the Board would probably do, have a proceeding.
     Now, the thing is it would be on an individual company basis.  Even if there was an ice storm, we could acknowledge that there was an ice storm and that 30 utilities were affected, but the amount that they would be claiming as a Z factor would be very company-specific.  So I would imagine - and, again, this is all very theoretical - that there would be 30 filings by 30 utilities, each expressing why they thought they needed to collect X number of dollars, and that that would have to be a written proceeding, probably, to make it expedient, that everybody would be able to review and comment on.
     MR. HARPER:  Thank you.

QUESTIONED BY MS. HARE:
     MS. HARE:  I have two questions, one for Mr. Todd.      

You described the Board's incentive regulation, second generation, as being transitional, and in fact we also call it transitional to third generation.  However, for some utilities, it will be for a three-year term.  So do you not envision that some utilities that are under that three-year term would find different ways of doing business and, you know, be incented to find efficiencies so that in that respect it really is an incentive regulation formula?
     MR. TODD:  Every regulatory regime has incentives.  Cost-of-service incentives are implicit.  They're not specifically designed in.      

This regime, I think, from the comments we've heard over the last couple of days, is not designed with the goal of achieving specific incentives.  If we subjected it to that test, in my view, it would fail.  So I don't look at it from that perspective.
     It does have incentives to minimize costs.  It has incentives to defer capital spending, which is the whole point of my recommendations.  It does have an incentive to reduce operating costs, whether or not that reduction in costs is efficient.  

One of the things we see in reducing costs, without looking at the impact on outputs or at the impact on quality, is that it can actually be inefficient to reduce costs.
     The SQI factors are not linked to financial consequences.  So even with the SQI factors, you don't have a comprehensive -- a package that is an incentive regime.  But, yes, there will be responses, and that's why -- in my view, one of the reasons why we need a CI factor.
     MS. HARE:  My next question is actually for the utilities, and maybe not just Hydro One but Hydro Ottawa.  I know that -- I think Waterloo North and Grimsby are in the back.
     If the Board does not go the route of a CI adjustment - and that's an "if" - and if there are two choices, I would like to get some feedback as to, if we have these two choices, which would be preferable to the utilities.
     And one would be that if the Board is persuaded that because of the need for capital investment, something more needs to be done to the formula that Staff has put forward; and the second issue that's come up is this issue of declining load growth.  

So if those things together mean that something more needs to be done to the Board formula, one choice would be to lower the productivity factor from 1 percent to something less as kind of a proxy for these two issues.
     The other choice might be, as was just discussed, to address the capital investment issue, a deferral account where any utility that, in the period, feels that they needed to make capital expenditures that were not compensated for, would come forward with an individual filing when they rebase, and obtain clearance for the amount in the deferral account.
     So if those were the only two choices - and, you know, they may not be the only two choices - but if it was a choice between one or the other, is there any preference?
     MS. FRANK:  I want to start with the deferral account question.  Deferral accounts, I believe, are always a last resort when, indeed, there is no mechanism to properly recognize the cost in the current period when it has occurred.  And there you resort to a deferral account.
     They're very problematic in terms of customer impact.  You accumulate costs, and then -- and we certainly recall with our market-ready costs, the transitional costs, the dollars got very high, the rate impact on customers were high.  

We started this morning's session looking at some of the regulatory asset-type items, and the costs are high.  We're going to have percentage increases later on from the Board Staff.  I don't prefer deferral accounts.
     The other thing with the deferral account is there's the incredible uncertainty around it.  We ran into problems and, you'll recall, with our credit-rating agencies and with our bankers, in terms of what confidence would there be in recovery.  Many utilities were actually not allowed to record the deferral account on their financial statements, in their audited financial statements, because there wasn't a sense of comfort that they would be approved.
     I believe the Board has demonstrated that, indeed, they are willing to have recovery of deferral accounts.  So that, hopefully, next time around wouldn't happen.  

But the other mechanism that allows recovery as incurred is definitely preferred to a deferral account.
     Your other one, Marika, was ... remind me, please.
     MS. HARE:  The other one was, as a proxy for these pressures, would be to reduce the proposed productive factor from 1 percent to something less than 1 percent; for example, .7 percent.
     MS. FRANK:  I don't believe the productivity factor of 1 percent would likely be sufficient, even if you took it to zero, to deal with some of the capital pressures in the extreme cases.
     And I think that once you're playing with 0 to 1 percent, that's a fine-tuning that I wouldn't think that second generation can deal with.  But I'd leave it to others to comment on that.
     MS. ANDERSON:  Is it on now?  Okay.      

I concur with what Ms. Frank said.  The concern around the deferral accounts is the rate shock aspect.  If you are not recovering it as you go, then eventually it will all hit the customers at once.
     The uncertainty is certainly a factor.  Changes around generally-accepted accounting practices, whether you're allowed to record these or not, so that you may have to take the hit to the bottom line regardless, with the hope that you would recapture later.
     So all of those are certainly concerns.  And I -- you know, if I had to take -- choose - and I'm not speaking on behalf of the CLD; this is just kind of off the cuff - between the two that you suggested, the lesser of two evils, perhaps, the deferral account would be preferable over the change in productivity, because I concur that you would have to make it a negative productivity to appropriately compensate for the capital needs.

So I'm not sure that you can make those sorts of adjustments at this point.
     MS. HARE:  Any other comments from any other LDCs or any of the other interested parties?  

MR. McKENZIE:  It's Cameron McKenzie from Horizon Utilities.  

We are also not a great fan of deferral accounts for the reasons that have been put forth.  If we were in a situation to make a decision, our choice would be to reduce the productivity factor as an alternative to offsetting some of the capital investment risk.


MR. HILHORST:  Gerry Hilhorst, Waterloo North Hydro.  We would generally concur with the comments -- Gerry Hilhorst, Waterloo North Hydro.  

We would generally concur with the comments made by Hydro One, and the utilities prior to us, that deferral accounts generally lead to rate shock issues with our customers and a negative impact on the bottom line, and we also concur with Cameron's, Horizon's comments with respect to the level of productivity factor change in order to compensate the required capital expenditures.


MR. WEBER:  I think it's a duel.  It's Brian Weber at Grimsby Power.  

I concur with using deferral accounts.  I'm actually tired of deferral accounts and the cost that it actually takes to track some of those.  

I think from a customer's perspective, if there's a deferral account, they're paying a higher rate of interest than if we've overspent, so I don't see that it's actually in the customer's best interest to have deferral accounts in this instance.


MR. SOMMERVILLE:  Mr. Shepherd, did you have a comment?


MR. SHEPHERD:  Well, I don't think they need either, but if you had a choice, I think the deferral account is the better option, because I don't agree that there's rate shock.  I think that when you're deferring a capital expenditure that's typically 40 or 50 years' amortization, putting it into rate base two years later has almost no impact on rates.


And the advantage of not allowing the utilities to include something in their rates until the Board has looked at it is more important than that minor rate impact two years later.


MR. KAISER:  Are there any other comments on that subject matter?


There being none appearing, Mr. Harper, we'll return to you for your summary questions.


FURTHER QUESTIONED BY MR. HARPER:


MR. HARPER:  Thank you very much.  I think I have got this button on.


Actually, there was just one final area, and it has to do with ‑‑ and frequently, Mr. Todd, in conversations we've been having around this, you've talked about how we need a broad-brush approach that's simple, that can be implemented by Board Staff, and I think you've suggested that your proposal is subject to rounding errors and it's imprecise.  


To be honest with you, the problem that I have is that typically when one hears the words "rounding errors" and "imprecise", one assumes the pluses and minuses will even out somehow in that rounding.  While it may be rough, we come out close to the right answer.


And I haven't had a lot of time to think through the proposal, and we've gotten some more information here today, but in thinking through it to the extent I have, in my mind I've come up with a number of areas where I feel there is a systematic overestimation of what the adjustment is that's required in order to sort of try and capture the investment issue that you're talking about.  


And I can briefly review a couple of those with you and get your comment on it and then actually maybe think about, if we agree on that, maybe it's a CI factor minus something is what you need.  Maybe it's minus 0.5, minus 0.2, minus something, in order to -- if you think there's a systematic problem involved with the formula.


But a couple of examples I'd like to get you to comment on is, one, I think we heard Dr. Yatchew and also Dr. Lowry talk about yesterday that ‑‑ and I think it was also in Hydro One's filing for its distribution case earlier this year, that aging assets cost more to maintain.  There's more frequent failures.  We have to fix that more often.  Just generally, there's more maintenance costs.  


When we come to decide to actually put a new asset in place, part of that is a whole trade-off along a continuum of when, over the long run, is that going to be cheaper to do.  But one of the things we should expect to see when we put new assets in place is that, theoretically, maintenance costs go down, because we have a new asset in place to replace an old asset.


I see your formula, as it is, is putting in the cost of the additional investment.  You know, admittedly, there's no mechanism, but admittedly there is -- you know, we have the same OM&A, because it's based on base year, sometimes 2004 values that we're looking at for most of the utilities here.  


There's no downward adjustment in the OM&A costs, accordingly.  So I see in that sense, to the extent that one of the prime arguments for rationalizations is that we're going to be reducing OM&A costs and looking at this over a long‑run period, I think there's a systematic overestimation there.  I'd like your comment on that.


MR. TODD:  We'll take them one at a time on that particular one, and Dr. Poray may want to expand on this, but it's my understanding that even with the high levels of capital investment, the average life of assets for Hydro One is increasing; i.e., the average ‑‑ on average, they're still getting older year by year, not by fully one year per year.  


It's just, shall we say, slowing the worsening average life.


Therefore, in terms of the average life of assets, it's actually no evidence there that you would have to assume that operating maintenance costs would be actually going down because of that.  You're running on a treadmill that is perhaps going faster than you're running and you're falling off the end of it.


But I think Andy may have a better handle on exactly that, or do you?


MR. HARPER:  Maybe before Andy responds, I wasn't necessarily saying that they would go down in absolute terms but they would be lower than what they would have otherwise been if we hadn't made the investment.


MR. TODD:  Okay.  Let me start with a global response.  When I looked at the formula to begin with, one of the first things I did was look at the historic GDPPI numbers versus the historic increase in Hydro One's costs.  And GDPPI was, I think, about 2 percent points below the increase.


So I looked at the formula as a whole and said, for starters, we've got a rounding error which is likely to be in the area of 2 percent in terms of getting the adjustment for inflation, if you want, right.  And that's because it's an economy‑wide factor, not a company‑specific factor.


And so on a global basis, if there's a few small factors that are pushing in what you're suggesting is the wrong direction on the CI, in the formula overall, frankly, I think the formula is not fully compensatory.  


So I -- from my perspective, I looked at the formula as a whole and said, these things are all a wash, and they're a wash in favour of the customer, so I'm not concerned.


If, all other things being equal, your suggestion is compelling to the Board that there's some biases in it, then, yes, it would be appropriate to have an adjustment of 0.1, or whatever, taken off the CI.  I understand where you're coming from.


MR. HARPER:  Okay.  Well, maybe rather than going through a ‑‑ we can leave it there and put it in the rest of the comments we give back to the Board at the end.


MR. SOMMERVILLE:  Dr. Lowry.


QUESTIONED BY DR. LOWRY:


DR. LOWRY:  I'll try to be pretty brief.  I wasn't going to ask this question until you threw this idea out that you had done an exercise that compared the GDPPI growth to Hydro One's costs, I think you said?


MR. TODD:  Well, it was ... 


[Conferring]


In Hydro One's transmission filing, there is a calculation which, in effect, calculates the rate of increase ‑‑ that inflation factor in their costs, which is a proxy calculation.  It's transmission.  It's not distribution, and so on.  But the same issue was being addressed in the transmission evidence.


And in that context, I simply took their numbers, which was a calculation of the rate at which their costs ‑‑ sorry, their OM&A costs were increasing - and that's on the record in the transmission filing - and compared that to the historic GDP-PI numbers as reported by the Ontario finance ministry.  And there was a significant gap between them.      

DR. LOWRY:  About 2 percent?
     MR. TODD:  About 2 percent, as I recall.      

DR. LOWRY:  And so you were comparing the escalation in their OM&A costs to the --
     MR. TODD:  Yeah, and that was applying -- I forget the exact mechanism for determining that number that's in that filed evidence, but it's in the evidence as to exactly how that calculation was done.      

DR. LOWRY:  But isn't it the correct thing to do to compare it to the growth in their unit cost, as opposed to their cost?  That's what a rate escalation index is designed to match.
     MR. TODD:  No, it was a unit cost calculation.  It was a percentage increase factor that was in the evidence.      

DR. LOWRY:  In their unit costs, though?  Right?
     MR. TODD:  Yes.      

DR. LOWRY:  Costs per unit --
     MR. TODD:  Yes.      

DR. LOWRY:  -- of something, right.  I'll take a look at that.
     I'd like to go to page 4, I think it is, of your presentation, Mr. Todd.  And you say in the last bullet point that:

"The CI factor is essential to the 

ability --"

MR. TODD:  Excuse me.  Are we talking the slides or are we talking the paper?      

DR. LOWRY:  I have the paper version of the slides.
     MR. TODD:  Oh, the slides.  Okay.  Page 4 of the slides, okay.      

DR. LOWRY:  So the last bullet says:

"The CI factor is essential to the ability of LDCs to maintain SQIs and performance at
expected levels." 

I was wondering if you meant that literally, or did you really mean that it's more a matter of rate justice?  Because under the proposed plan, a utility would, at the most, be expected to engage in capital spending above compensation for a year or two; and based on everything that's been said today, very possibly the utilities that feel they really need to get started now might be moved forward in the tranche queue.  So that, as was also discussed earlier, you might be short up to 5 or 10 percent of the total expenditure.
     So isn't it really more a matter of rate justice?  I mean, you're not really saying, are you, that the lights could go out during this second-generation IRM too because it was simply impossible to do the spending that was necessary to keep the lights on?
     MR. TODD:  Basically, yes, I would agree with you.  I mean, certainly the issue I'm addressing is not the lights going out.  And the issue is sensitive to first, second, third tranche. But maintaining SQI levels is not an issue of the lights going out per se.  

You know, there's a number of measures.  Performance at expected levels, I'm not talking about the lights going out.  What I'm talking about, really, is a manager who's being paid to represent the interests of the shareholder.  In my experience, the companies I've seen, when the pressure is on to cut costs, ends up making decisions which increase risk, increase the risk of problems occurring on the system.
     And as a consequence of that, SQIs sometimes get compromised.  We've seen that in some regimes.  Not that it was deliberately done.  It's just that you look at it and say, Oh, we can get away with this, and sometimes you  can't.      

DR. LOWRY:  Okay.  So there is potentially a matter of a rate justice where, if some capital expenditures were made that resulted in a unit cost increase, in a given year, that might be a little more rapid than what the price-cap index is allowing.   And taken -- given that in isolation, that could be viewed as unjust.  

But what I want to ask you is -- and you've looked at multi-year rate plans for many years.  Isn't it also the case that under multi-year rate plans, that there are quite a few occasions when a utility will actually make less of a capital expenditure than he was afforded by the price-cap index and then, in effect, the company's unit costs was less than the growth in the price-cap index?  Doesn't that happen sometimes under multi-year rate plans?
     MR. TODD:  It has cut both ways, in my experience

DR. LOWRY:  Pardon?

MR. TODD:  It has cut both ways, in my experience.

DR. LOWRY:  And in that event, why isn't it important for the Board, at least, to realize that you're asking for a special treatment for these cases where you might be shorted for a year or two, you know, not quite enough escalation when you're in a more brisk cap-ex phase but that down the road there could easily be some offsetting situations where the shoe is on the other foot?
     And you might take this as an example.  I mean, just think of how this North American style indexing plan would work in the Province of Ontario.  Apparently some of the largest utilities, including Toronto and Hydro One and Hydro Ottawa, think they need to have some rapid spending growth in the next few years.  

Well, that is definitely going to slow down the productivity growth.  And it might not register until the next plan, but it could actually result in lower X factors for the following two plans.  And so you've asked for this upfront payment for the -- for your convenience now, but down the road you'd be looking at a benefit.  

I mean, how can you be sure that they aren't offsetting overall?
     MR. TODD:  I think Dr. Poray is going to have a Hydro One-specific answer in a moment.  But first, on a general level, the LDCs -- in Ontario, we have gone through a period of radical change, which has been borne, to a large extent, by LDCs.  They have been forced through a lot of change.  This whole industry has been highly politicized in terms of rate increases.  There have been a number of impacts on the LDCs.  There is concern about the impact of this political and regulatory risk on the way the capital markets perceive them.  

I guess if we're simply to look at this in total isolation, as we are putting one straw on the camel's back, it would be fairly easy to say, Well, don't worry about it, we're just doing simplicity here.  And maybe I'm being sympathetic the client, and generally to the LDC group's clients, but, you know, it's just another straw, and a very large straw, that's being put on the back of the camel.  And that's the reason why the Board may want to say, you know, Do we break it every time?  Do we break it against the LDCs?  Or is this an opportunity to show that, you know, sometimes it breaks the other way?      

But, in isolation, I agree with you, Mark.  As a package, I'm not so sure that I'm comfortable with it.  

DR. PORAY:  I'd like to add to that that, essentially, we see this as a problem that is not just second generation; it's third generation.  We've got to start solving the problem now, because it will keep growing.  Our assets are growing older.  We're not replacing them fast enough to lower the age.  So it is a major issue.

DR. LOWRY:  It is a major issue, but I also get the sense that if you're looking forward in a third generation plan to a particularly tailored X factor, that you're actually -- you know, you are incented to not spend any today because you'll be getting it covered in the future.  

I mean, the very expectation of a customization in third generation makes you more certain that you wouldn't want to do any investments until then, as opposed to what Mr. Shepherd was saying, that if you didn't have that expectation, you would want to make investments now to raise your base so that you could have -- in the index driving off a higher base in the future.
     I'll try to be quick here and be done by 1 o'clock.  A couple of more quick questions.
     So you, Mr. Todd, have developed this mechanism, but one thing I didn't notice in here was the fact that the productivity factor is based on the -- the X factor is based on total factor productivity studies, and the input quantity indexes that are part of those calculations include the cap-ex.  But now, essentially, you're taking cap-ex out of the formula and you're putting it in a separate treatment.  It's almost like a cost pass-through for the cap-ex.  

And so were you prepared to recognize that maybe there's something missing from the formula which is an adjustment for the X factor, to raise the X factor for the fact that the cap-ex has accorded a special treatment?
     I'll just say one more thing, and I'll let you respond.  I notice that you acknowledged that in the case of the British Columbia plan, that the X factors, instead of being 1, are 2, 2, and 3, and that applies to the O&M expenses.  


It doesn't include any capital at all, and I might just suggest that that's an example of if you take capital out of the picture, that the X tends to go up to some degree.


MR. TODD:  I would agree with you, if capital was being taken out and being treated separately as part of the formula.


I have taken the approach that the CI is similar to the Z factor in that it would be used only in exceptional circumstances, i.e., only used by a relatively small number of utilities, and that is ‑‑ the consideration is, in effect, another rounding error; that if you then tweak the formula overall, then in terms of the X factor, that's going to apply to everybody, not just those ‑‑


DR. LOWRY:  Well, those utilities that elect to go down that road, can we calculate a special X factor for them that's higher in recognition of the exclusion of cap-ex?


MR. TODD:  I think that defeats some of the simplicity, but if that's a concern, I think that is added to Mr. Harper's list of potential reasons why you might want to have a bit of an offset, and I have not worked through the numbers on that.  

You may have, in terms of whether we're talking a 0.01 percent impact or a 0.1 percent impact or 1 percent impact.  I suspect when you work it all through, it's small, but I could be mistaken.  I haven't worked the numbers.


DR. LOWRY:  Then a related question is --


MS. FRANK:  On that one, I want to add one thing:  When you look at the B.C., the 2 percent was on the OM&A.  If you did it on a total revenue requirement - I'll use us as an example - our OM&A is roughly a third of our total revenue requirement.  So you would have to say one-third of the 2 percent is what you should put on the total revenue requirement.  


But I'll be even more simple.  Just make it half, because it's late in the day; don't want to do math.  It's Friday.  So that would be 1 percent.  The 2 percent would be 1 percent on the revenue requirement.


You've got to keep in mind what it would relate to.  That one was only on OM&A.  It wasn't on the total price that you do.   So if you want to make a change like that, yes, I would agree with it, but don't think that means 1 percent productivity becomes 2.  It doesn't.


DR. LOWRY:  No, I agree with you.  It doesn't become  -- it wouldn't become 2, but I was just using that as an illustration of the general principle that as you start chopping things out of the coverage, then the X factor changes.


MS. FRANK:  And, Dr. Lowry, if you use B.C., we'd say 1 is too high because, as I said, 2 percent on OM&A is less than 1 percent on total revenue requirement.  So if you want to go there ‑‑


DR. LOWRY:  I don't know.  I don't know that I accept that.  My own calculations suggests that productivity in OM&A generally is about 2 percent or higher; 2.4, something like that.


MS. FRANK:  And I'm going to give you that, but then I'm going to say the simple formula said “on total revenue requirement,” not “on OM&A.”  OM&A is a fraction of the total revenue requirement, a third, a half.


DR. LOWRY:  Right.  I wasn't suggesting the 2 percent as the kind of number you would be talking about, no.  It would be in the matter of 0.2, 0.3, 0.4 adjustment.  


Now, relatedly, then, you're effectively saying that if you were under a plan like this, particularly if it was for a few years, that you would basically want special treatment during this period of your rapid unit cost growth.  But as I said a moment ago, your ‑‑ unless Hydro One was excluded from a productivity calculation for Ontario, it would result in slower X factors in future years.


And so if you essentially want to opt out of the indexing now, wouldn't it basically mean you would have to stay in a different rate‑making treatment indefinitely?  You wouldn't be able to ever rejoin the plan because, for years afterwards, the X would reflect your run up in investment?


MS. FRANK:  We had this conversation, I believe, yesterday, when we talked about:  What model would you like to see for third generation?  And, Dr. Lowry, I think you posed:  Would anybody like to have a U.K. model?


DR. LOWRY:  Mm‑hm.


MS. FRANK:  Sounds like a good plan to us.


You put a forecast in.  That way we don't have the uncertainty that Board Staff was concerned about in terms of not knowing if you're going to be able to spend the money or not.  It all gets pre‑approved.  I don't think that's a big hardship to move out of this model.


DR. LOWRY:  And that's something to be considered, but my question is:  Can you recognize that that ‑‑ you might have to stay out of an indexing plan in the future, in years when it would be beneficial to you because you weren't investing that much, because you did it all in one big batch?


MS. FRANK:  It's a long life problem.


MR. TODD:  My comment is that the ‑‑ this capital investment either will be done or should be done, in any case.  So it makes no difference as you move into third-generation IRM.  

I mean, if it's done, in any case, because it's necessary, whether the company's compensated for it or not, that capital there is going to affect the X factor, because we have almost 100 utilities.  They're all in different categories, different starting points.


So, number one, even our third generation, because of the nature of our issue in Ontario of dealing with a large number of utilities, it's going to have some approximations and crudeness in it, anyway.  


So I don't see why that differentiation would matter in particular, because it hopefully would make no difference to the capital spending levels that have been incurred by the time you move into third generation.


DR. LOWRY:  And one final question, to end on a happier note, is that I just thought that I might give you the opportunity to speak directly to these Board members about your idea of the award/penalty mechanism as distinct from the more administrative approach to the service quality regulation that -- the Board is kind of currently going down that road.  


Would you like to make a two‑minute case that awards and penalties would be better in the long run than an administrative treatment of that issue, and even assuming that it was done conscientiously?


MR. TODD:  I think that the starting point for the difference is a mindset.  In Ontario, the companies, the regulator, the other stakeholders, all have a long tradition and, therefore, strong mindset, of cost‑of‑service regulation.


The alternative of rewards and penalties for performance, a true performance‑based regulation system - and I suspect this is what you're getting at ‑ is one that says, We are going to focus on your performance, and you get rewards or penalties for getting there.


When we've done international surveys, I find Australia very interesting.  If you don't perform, you can face some very significant penalties.  If you do perform, you can receive some very significant benefits.  And it's based on delivering a bottom-line end result, whether it's service quality, prices, whatever.


And that is true performance‑based regulation, which is where I think we're headed.


The regulators, whether you're talking U.K., Norway, Australia, approach things with a different mindset.  They don't approach it from, We have to go through your numbers and second‑guess what's right or wrong.  They look at bottom lines. 


And so if where you're leading, Dr. Lowry, is the reward-and-penalty approach combined with we'll move away from the scrutiny approach, true performance‑based regulation is a way to incent companies to get end results.  

It's the same as a company incentive regime where you pay for performance, bottom line.  We don't look at how you get there.  We look at your results.


That mechanism has a lot of attractions.  It requires a whole mindset change, however, to all parties sitting around the table and adopting a different approach to our whole regulatory system.  And I think that's the biggest challenge we face in Ontario is changing that almost philosophy, or mindset.  


If we can do it, I personally think it would be wonderful.


MR. SOMMERVILLE:  Thank you.  

The schedule provides for an opportunity for any additional presentation or representation to the Board.  Does anyone have anything that they would like to add at this point?


I don't see any volunteers.  

With that, I'd like to bring this presentation portion of this consultation to a close, and I know, speaking for my colleagues, and the sponsors, Mr. Kaiser and Ms. Chaplin and myself, we are deeply grateful to the presenters and those who have attended and provided the questions and the answers and the context for this extremely useful exercise.

     Now, I also know that Board Staff are equally grateful for the great effort that has been made by all of those involved to provide very high-quality information in the development of these extremely important milestones in the regulatory environment here in Ontario.

     So with those words, a very sincere thanks.  We dedicate ourselves to considering the materials that follow in this process very carefully, very soberly, to arrive at solutions and approaches that serve the industry and the province well.

     So thank you very much for attending, and I'm sure we'll see you all shortly down the road, and we look forward to your submissions on these subjects.

     Thank you very much.  Bye now.

     --- Whereupon the hearing adjourned at 1:03 p.m.
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